3R el siefieRer Jar TS IRN9T, IS
AT dheliept—AaT (ATHT TIT) TWeET -2016
W Fell (AR He)
e fafer : 26.03.2023

@ug-1 (AFE™) / Section-1 (Compulsory)

(mm fe=)

1. g v 1 FIREET SdTE |
e

2. Toru foehen o vt foeim-gm i 2
Hfd - swhifd

3. frafciRea 9 & form foshed # “Tastelt’ wreg o ot worfoam=t st 8 7
ferera, <rren, aifeeht

4. ‘A Ieg 1 HE forAAH FHT |
ferw

5. yfoem frerede seg-gm wftomm - gftor o1 3faa 212 g -
3| - a™

6. foaw fir=medes weg-gm ‘¢a - <a’ 1 3faa A B -
e — W

7. Teafafeada R @ adt figaadie ¢
A

8. ‘3eft T T @I — 39 AlhIfh HI JIF FATE ?
HAT TG, T i3

9. ‘T Pk - TR HT 37 7 :
Tt i ferfa o W stiE <R |

10. FTAdIRR T Eifdm g ?
oo
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11, Ters fersen T gfeet o1 sfifer voe @&l 7 2 2

TR - R
12. Fr= 4 @ form wreg Sl ad @ 8 7
aiutfa
13.  ‘UE 3T & G- % Hal &’ Ufed H b T7 TABR B 7
AT RIUT TR
14, “TSrEen ol 7 o ST Eeh’ - 58 97ec g o foTq Teh wIeg gy |
JraUHR
15. Tfqat Isc A BH AT R ?
RGO
16. frforiga o form wog % ot wieg qeam § 7
WR, Afey, g
17. fAdadaoE e :
forn
18. “TUI-Q’ fore THTE 1 SRR 7
og T
19. 92+ 3 Mooy -
A
20, SO HBAAEIEI LG R ?
F+a
21, ‘GIa™ 6t ucd Frfesht ueh gefiaar AR oft | arer % form v A srgfg B
Teh et
22. Tr=fefed @ & yaaTae 951 H1 R R AT R ?
HEHAT
23. ‘ufoew’ §oHH a1 3TEi R ?
o
24, UMD Yog | i TT TIF AME ?
Cic)|
25. ‘GRS SWHH IS8 7’ d1 § G- HT hiH AT THRLE ?
Ty AT
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(Tm= % TeTuT / General Intelligence Test)

26. U hadl ], “Ufad sl AT B AT hY gehelidt sl 87 | FUITA 1 Ufgd o FTHIY 3 7
HHT
Kunal says, “Rohit’s mother is the only daughter of my mother”. How is Kunal related to
Rohit ?
Maternal uncle
27. = € T JfEen & fore e faehew s IEA A
Choose the correct alternative for below given series :
PP RPQQ PQ RPPQ
QRRR
28. ot Tfad e WIWT § GAME 1 HBNF @ &9 ¥ hifed fohal ST 2| 376 I e w191 |
HOME 1 %8 foran starm ?
In certain code language GAME is coded as HBNF. Now, how HOME will be written in the
same code language ?
IPNF
29. 1 SHEd, 2003 I IEHAR AT | 1 SHE, 2004 T TG T shiF 1 feT o1 ?
wHER
January 1, 2003 was Friday. What day of the week was on January 1, 2004 ?
Saturday
30. 3799 T H 50 HieX gfaor ST 3T ST W, €T ST g STt 8 3R 20 Hiet 3R A 7 | R 3@
S AR gL I8 30 HeT et 8 I BT 319 5 ht TR e IE il & | 379 98 foh feam d
AW R ?
IR-ufvem
Going 50 m to the south of her house, Dina turns left and goes another 20 m. Then turning
to the North, she goes 30 m and then starts walking to her house. In which direction is she
walking now ?
North-West
31. fowm=d:
A

Find the odd one out :
April
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32.

ueTh, faet, W1, v, faft, 36, 9ed 1R fodl T JamehR 39 & =i 3TR g i 3K 9@
Tk 93 © | UeAoh, faem hl grRff 3 e 3 ot <Y arff o iR = W ot 2 | wm,
forfir <A1 it ST QR T T a1 & | G, THRT 31 9Tt 3TR g8t T W daT 7 | fafin faaeh 1
T T8 & Safes 3u 7 @ faft 1 3 7 & foen o1 urh 2 | vam % 91 3 fafin % gl %
e fra safRa S & 7

Palak, Quincy, Ramesh, Shyam, Timir, Umang, Vandan and Willa are sitting around a circular
table facing the centre of the table. Palak sits third to the right of Willa and third to the left of
Quincy. Shyam sits second to the right of Timir. Vandan sits second to the left of Ramesh.

Timir is not neighbour of Quincy while Umang is neither a neighbour of Timir nor of Willa.
How many persons are sitting between left of Shyam and right of Timir ?

1

33.

TEh o Th TE H T 1 TIH HW F 1531 3R A= 7 1297 2 | 38 TR, TSRl & o g
H, St 1 BT HWH 1737 3R A & 1897 7 | ShH: TTSehi T TSR hl T&T fehat g 2

26 3R 34

Ram’s rank is 15" from the top and 12™ from the bottom in a group of boys. Similarly, in a
group of girls, the rank of Daisy is 17" from top and 18" from bottom. What is number of
boys and girls respectively ?

26 and 34

34.

et feu e fohedi § € 9% T 511 3R 1 FaiaH €9 | I LTl |
U BT ¢ ITHY ;2 & : (?)
SR

From the options given below pick the one that best completes the sequence.
Describe : Ineffable : : See : ( ?)

Invisible

35.

T 3ATHTaai/Question Figures :

11T Hoadl

ITR 3TTHTaai/Answer Figures :

OoA|AOO||AOCO|IOAO

AQO
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36. fu T Sreg] i Trefe A H SHafeyd i
1. == 2. it 3. TEfEa
4. HIETEHR 5. 3T 6. fogmmm
6,5,4,1,3,2
Arrange the given words in a meaningful sequence :
1. Selection 2. Probation
3.  Appointment 4. Interview

5.  Application 6.  Advertisement
6,5,4,1,3,2

37. I AR § § I8 IR I FI9 L 1 Uid GHET A gRI T 2@l Hl A
T |

Select a figure from amongst the Answer Figures which will continue the same series as
established by the five Problem Figures.

e SRt / Problem Figures :

AEIEIEIES
(¢ (d)

@ () (©)
ITR 3Tl / Answer Figures :

KR R R K

nHm @ & 6 6
2

38. 3 T I TEATHT ST Y X I U HH ¢ |

Identify the figure that completes the pattern X.

R
K

X)

N A P R

A B) © @D

=y
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39.

34 Terehe &1 5 Bl S feu e g 1 u < B (afe 38) 8 Hhl frerar-gean g |
Choose the alternative which closely resembles the water image of the given combination.
BK50RP62

BK20KbLES

40.

T5f Sim W & Irgared $® wee fer e E |

hapllesh =hT 37 o 2 cloudburst

srenchoch =T 379 ® pinball

resbosrench T 3% & ninepin

org w1se <1 37 “cloudnine” &1 TehdT @ ?

Here are some words translated from an artificial language.

hapllesh means cloudburst

srenchoch means pinball

resbosrench means ninepin

Which word could mean “cloudnine” ?
haplresbo

41.

& 1T mepfa A fepad Byt € 7

How many triangles in the given figure ?

10

42.

fr=ferRaa g7 # e fou e § 3R 37 Ui o a1e fepd feu e § | stent fou e et vt T
AT B Wl & 3 gaga a2t @ = wditd gid & | frsshet ot ug 3R e faifa w6 fog mo
rehut © © S 1 A ST G2 hi 3UETT hLd U ST T HAHT hT dlfcheh €9 | ITTET SHLal
g1
U : IS Tl I A1 8 | At el hat & | Eft het T F |
fred: () o hiae g |
(II) H T A FS U9 ol § |
i (1) 3R (IT) HTEOT hE ¢ |

In the following question statements are given and these statements are followed by conclusions.
You have to take the given statements to be true even if they seem to be at variance from
commonly known facts. Read the conclusions and then decide which of the given conclusions
logically follows the given statements, disregarding commonly known facts.
Statements : No strawberry is a kiwi. All kiwis are bananas. All bananas are apples.
Conclusions :
() All kiwis are apples.
(I) At least some apples are bananas.

Both (I) and (IT) follows.
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43.

FTa <hIfSTT foh e T ST o6 31eRl & i T ITeg el SR ST Fehdl & 7
Find which one word cannot be made from the letters of the given word ?
TOURNAMENT

MANOUEVRE

44.

= feu 7T w97 g1 A 3R 38k a1g o TR U U & | STdeRt e & 18wl STl b
T WA ], T ST forseet R foram ot 3T a3 o6 o 30 & i &1 ashyul Eeg o W ket |
@ TS THHRY T dATfeheh €Y T STTEROT HLAT 7 ?
e : () Tt srfiear srsferat 8 |

(1) |+ TTefral Goea 2 |
fFews: () @oft st gt 2 |

(1) FB ASiHAT AT & |

At R (1) 3T (IT) HTERVT A E |

In the question below two statements followed by two conclusions are given. You have to
assume everything in the statements to be true, then consider the two conclusions and decide
which of them logically follows beyond a reasonable doubt the information given in the
statements.
Statements : (I) All the actors are girls.

(I) ~ All the girls are beautiful.
Conclusions : (I)  All the actors are beautiful.

(I)  Some girls are actors.

Both conclusion (I) and (I) follows.

45.

ush uTel ® g, Toe, AT, SR g 3T 36kl et qen esh O 1 Ush OF R ¢ gt 8 | a8
%t fepat Afgemd & 7
A party consists of grandmother, father, mother, four sons and their wives and one son and

two daughters to each of the sons. How many females are there in all ?
14

46.

(AT R / General Awareness)
W # ‘Giay™ fead’ e gaRT SIS ?
26 FGR

When is ‘Constitution Day’ celebrated in India ?
November 26

47.

A T[S <h 0TI STt i fohdl <1 b1 ITAESREet cgwhersn smate faen @ 7
UG

Indian origin Krishna Vavilala received which country’s Presidential Lifetime Award ?
USA

48.

TR < Tad g o1 e B F e | fewrg s 7
AT

Which of the following part of the Sun is visible at the time of the eclipse ?
Corona
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49. 9% 31uTg S fewn  wmeher B 8 -
HEAEA
The non-metal which has a shining appearance is
Iodine
50. WA o T8 TR GAT 9 GER $-he| HUGTCT I 3T fohel T H fohar 1T 7
HET TR
India’s first and the world’s second Infantry Museum was inaugurated in which State ?
Madhya Pradesh
51. Torg <1 1 ugen I e siTe “Sheaoflt BT (KALYANI FeRRESTA)” &g femarm wam 7
TR
Which country’s first Green Steel Brand “KALYANI FERRESTA” is launched ?
India
52. 9, S 3Nk &9 U T T A, B —
TR
The Veda, which is partly a prose work, is
Yajurveda
53. TaeAfcriaa # | fora wesrgr | forgam 1 of= oft 7
AR
In which of the following sects was Bindusara interested ?
Ajivika
54. To=ferfaa § @ A o1 3RfSEr o Taaaar ST i o HRIsHH 1 &7 few o 7
fafesra wfaae
Which of the following was the main part of Aurobindo’s programme to achieve
independence ?
Passive resistance
55. fopm s% T JSW HiHe # 2 100 F H 37e fewdigr) =faet <1 7
LSE I
Which bank acquired a minority stake in JSW Cement for I 100 crore ?
SBI
56. frmfciRaad o & wia ® shuT i Wt & foie gew e &= g
TIHEHA ISR
The most ideal region among the following for the cultivation of cotton in India is the
Deccan plateau
57. oS GRS TR |
foma
The Salal Project is on the river
Chenab
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58.

forg Wt weretie i “aRdiT ¢ IR Fes HI T F T ATATA@ R 7
1.3t SW

Which Indian athlete is known as the “Queen of Indian Track and Field” ?
P.T. Usha

59.

JTFEER 2022 H A + ST 1 TR AU o™ 36 AR Hhd Sdl | e 6 AR
Fufra ea awafa g 7
gt

India defeated Australia to win 3™ Sultan of Johor Cup in October 2022. Sultan of Johor Cup is
associated with which sport ?
Hockey

60.

FrfaRaa & & ford 95 % GRM TG fog wist =it off ¢
T fava gg

During which of the following war Indian National Army was involved ?
World War 11

61.

femTers vea yoreRt freifoifea # © ferag defia @ ¢
Ffeta uaa

The Himalayan mountain system belongs to which of the following ?
Fold mountains

62.

R T b Tofall STSeRt ol TeHaR 2022 ¥ fohd €1 oh TUTHHE o €4 § bt & AT 7T 7
RS

Indian-origin Leo Varadkar was re-elected as Prime Minister of which country in Dec.
20227
Ireland

63.

HifcTeh hdedl ol Ioovid 39 fRIT AT R :
91— IV-A

The Fundamental Duties are mentioned in :
Part-IV-A

64.

frefafaa 9 @ = a1 s T=d U 9 Hefia § 7
Which of the following Article is related to Panchayati Raj ?

ge3e/ Article 243

65.

it @it <A1 feemTieati % staTer #, RBIF 7 fean-féw dar fru &
SR &= Rt 2R aiferer ufaeuelf s & foro Tu sl e & SRt & vaw = e

& foru |

In pursuance with the recommendations of Narsimhan Committee, the RBI has framed new
guidelines
to govern entry of new private sector banks to make the banking sector more
competitive.
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Eus-2 / Section-2
22 fawa wig /Trade Subject Code — 01
313&917:5, <HST & / Instructor, Leather Work

66. Tr=fcTfigd & @ = wa i 3R ST SHaehi o o= AN & ?
HIfEH
Which of the following layer is present between the epidermis and the subcutaneous
tissues ?
Corium
67. TEHREH TS 37 TH & =idt H et 7 ol WTet § 3 Fehrer o fore fforfaa o @ form
farfly =61 3w fopam ST 2 2
oo
Which of the following method is used to remove wool from the sheep skin by soaking in
solution of sulphuric acid and salt ?
Pickling
68. Trfctiaa # & forg =S W 90% | 100% THS < W1 A B & A clead a3l o a1y et
TS o AWM T¢@H 3R ST o foTT 5i5d | ST W IR 8Md & 2
it AR
Which of the following leather comprises of 90% to 100% of leather fibres bonded
together with latex binders to create a look and make similar to that of leather at a fraction
of cost ?
Bonding Leather
69. Frfeiaa o @ form =me # ueh foe foivar gret 8 St 91 ey &l U fashfrd gid & o SR
“TH §9” b o &9 H ST ST 8 2
YT AR
Which of the following leather has a special characteristic known as “goose bump” look
because of the large follicles where the feathers grow ?
Ostrich Leather
70.  SARHT THS o G Y dicie, shl b, TIehT 3T ITEUIE hH i Afelad ° & forg goft o

Ffieha fopa ST Teha 2 2
HETH THE T TWH (HifSTH e TS9)

The personal leather goods such as wallets, key case, notecase and passport case can be
classified into which of the following category ?

Medium Leather Goods
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71. Tefafaa @ @ frm gdied 0 s sfean shufera (S 61 @rer) =1 sy e e 2
Hora vEEEt
In which of the following presidencies the East India sheepskins are tanned ?
Madras Presidency
72. 3l g @, Srenfiehy, gfdretor, sreret fohm 3R aa TEeH foehe 399 YgH Hih
Sefit <1 wgrrn < fore freferfed 8 @ S S A IE TS E 7
T X e foroR TS USFEHN Forel STeIuHe (THUAURTHTET)
Which of the following scheme is launched to assist entrepreneurs by providing modern
infrastructure, technology, training & skill development and human resource development
inputs ?
Mega Leather Footwear and Accessories Cluster Development (MLFACD)
73. Tr=fafad o @ & o1 veg 98 THE S Tosft, §9 A1 9 6 Wit WA BT 8 ?
qlss
Which of the following term applies to the pelts of larger beasts such as cattle, buffalo or
horse ?
Hide
74. ST < =T IR @I T MR, Tt 31t veyfime el i gem i ufshan st *
Y H ST ST 8
it
The process of removing dung, earth and albuminous matter from the skin and hides of
animals is known as
Soaking
75. TrfaRad # 9 ford SToREM § GHTEER &1 o |1 dSil § FFH aTel faeiet He o | 998 i
ST I B 2
vt
Which of the following operation comprises of pressing the leather against a rapidly
revolving cylinder set with curved blades ?
Shaving
76. Tr=faRaa o @ & 1 wmer e 3 Tt ufafer i & €9 o Sucrea 7 2

qui 3

Which of the following leather is available in the form of aniline and semi-aniline finish ?
Full Grain
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77. Trafafga @ & w9 @1 ITg (New) T Wi i S| ST g SR S 2 8 qeieh
Y Y g 37 foetl arggd o &9 8 off ST S g 2

St st e

Which of the following product is made by Chrome tanning cow hides also technically
known as box and willow sides ?

Lace of shoes

78. Tr=faRad o @ fora Ao 1 3w Beforn fesmea 3R foshra w&um™ < it & giEmd e
HTITAHETR ?
TEATTA GIALM3T chit TATIAT (TETEHIIHE AT TSI WHIToIE IT)
Which of the following scheme aims to provide infrastructure upgradation of campuses of

Footwear Design and Development Institute ?

Establishment of Institutional Facilities

79. afsreser S fafer o fow frafafiaa 9 @ fora wmaft <51 swm 2= feran St 2 2
ShITHH THh

Which of the following material is NOT used for Vegetable Tanning method ?
Chromium salt

80. Teh Usha il =wened Ufshan & fou @i st afesrt o1 3w st 8 91 & @ist 3t o1 3w
! &, FEAT |

e 2 (@t wwivnem)

A process which utilizes minerals and vegetables or two mineral tannages for tanning
process is known as

Mineral Tanning

81. fr=faiRaa @ = fora fafyr o =M< o qqati i e ot & T Ot < SHEIM (Urerd) | =S i
2 TR (9T ST R 7

ThefoTarRh T

In which of the following method the leather is drummed in an emulsion of oil to lubricate
the fibers of leather ?

Fatliquoring

82. TrAfaiRaa o @ form =wig <Al W8 T B I R ST & 2
olifea () I
Which of the following leather has an artificial grain applied to its surface ?
Corrected Grain
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83.

o =g 1 I PR, Hiter 3T Wt HR HIH o AIL-H1 TR TSI ! JART FH 5
o fern ST 2, 38 % &Y § S SR

RURKECES

The leather which is used to make soft coverings of the chairs, furniture and motor car
cushions as well as interiors is known as

Upholstery leather

84.

freafarRaa & @ =9 a1 e wRa & wmefior YT 6 TSATR < U Y@ HId 8, N9 & O ot
309 Hfgel TSR & ?
THST I

Which of the following industry is a prominent source of employment in the rural parts of
India with women employment at about 30% in its sector ?

Leather Industry

8s.

FafoiRad 5 & S &1 T 1992 T Teh TeTwehRT Shu <h €9 1 wi1fud foram mam o, foeeht g
e pefor, IR 3T AT e o fore A b wfStfera e o 2
WRAT THET AT TEAH

Which of the following institute was established in 1992 as a not for profit company whose
main objective was to train the people for Footwear, Garment and Goods Industry ?

Indian Institute of Leather Products

86.

T foromar S Tt 3R gaT 1 IHS b HIEAH W Yo i <l STAN <l 7, W £
Fq H ET TR |

vaaAgHa (afeeid)

A characteristic that allows moisture and air to permeate through the leather is known as

Breathability

87.

THIS T THS o THEHT o (T SEAHTA <h! ST aTedt Tfsha, T @ret sl &R (3TTeshedl) o
Hier 8 T ST 8, % &9 1 ST ST B

IS IE Dl

A process used for parchment or leather processing, in which hides are soaked in an alkali
solution is known as

Liming

88.

frafearfaa o @ form ufshan & 3THAR W =9 &1 T8 %1 & fau s&aqTe fopt S a1t s |
T G T ITS i Wi M B 2
i

Which of the following process comprises of pulling the leather over a stake set in a
ground generally used for softening the leather ?

Staking
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89.

frefefiga o @ form =me =1 fe0 St waT ST 2 2
MpIC]

Which of the following leather is known as stingray leather ?
Shagreen

90.

Traterfiga o 9 form Suetur o1 ST 99 o UM o T84 TR o gitsentor < foru feram Siran
29
EQR]

Which of the following tool is used for finishing of outer edge of leather goods ?
Crease

91.

3T ITTG T S TUTE b 1Y TAAT S b ToTT 3Heh! T8 & $HS Tl bl Tt THS i
AT A <hl TTsHT 1 % &9 T ST A 2

AT (TRTEIaT)
A process of thinning leather by shaving off a few layers from its surface to make the final
product thinner with better quality is known as

Skiving

92.

fafafea § @ fra g 7 faftm 9 smer % 811 v wifte 2, St @i vge o 8¢ &
IR H FEeTTd o foTt S8l WA Bl & 2
Ueh Bt U

Which of the following tool comprises of different standard sized hole punches set on a
wheel for quick access and hole size changes ?

Rotary Hole punch

93.

Trafaftaa o @ = o1 wee w9 6l 39 e 1 IUH HLAT B 2
et (afem)

Which of the following term describes the aging of leather ?
Patina

94.

=1 & @ 1 = qorTeeh €9 8 Teh Udel! T 8 Si oo shi SHudt HHT et 7 7
atfererd (ufuefifa)

Which of the following is comparatively a thin layer which forms the upper boundary of
the skin ?

Epidermis

9s.

Teh Ufshan foew =2 <hl g =hl Teh 9 o |1 3oh{ SI1dT 2, 3H o &9 H STET 14T &
TR

A process in which the surface of leather is engraved with a pattern is known as
Embossing
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96.

freferfiaa ® @ 1 o1 9ueT 3= Tt YR o =HS | T™ Y TUTERT STl § 2
RRERRE

Which of the following leather is the lowest quality amongst all other types of leather ?
Genuine Leather

97.

TS Y Teh Wd o |1y U fqunfod Tme (Fiete 9ier) &1 ddg W & Srdn @ 3
3T ST 7, T #ad 2l
TAIRRE A

A split leather with a layer of polyurethane applied to the surface and then embossed is
known as

Bycast Leather

98.

Fraferfiga o & form rishn w1 3eva Tmet & & foru et et 1 foshr e, =met & & forw
fofRre waferofie fermati 1 gt o, STfaites fHemt 3 glorr, TSRTR FoM 37K 3G H gfg e
g7

YR S 3R THeT frehtdt SishA (SMEURTAST)
Which of the following program aims at development of infrastructure for the leather

sector, address environmental concerns specific to the leather sector, facilitate additional
investments, employment generation and increase in production ?

Indian Footwear and Leather Development Programme (IFLDP)

99.

T TR S Sl ®9 W W % e HIol % UREEd 3R HENUT i Al ot 8, 3W
o &9 | M1 9141 8
wREon (frsteiv )
A process that temporarily allows transport and storage of the raw material of leather is
known as
Preservation

100. THEAT o TN 8 b=l Wit § STl bl G2 shl TishaT bl o &9 § ST 74T &

gt

The process of removing hair from a raw hide through the use of chemicals is known as

Liming
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Wus-2 / Section-2
22 fawa ®ig /Trade Subject Code — 02
THA— AN / X-Ray Technician
66. TE SIS (effective dose) Tt SI PR ?
e

What is the SI unit of effective dose ?
sievert

67. ferelt fou T aea = Tmeenfes O grar 8
i <l THA T Al =g el 3TeRT— 3T T&|
The Isotopes of a given element contains
the same number of protons but varying numbers of neutrons.

68. Afcd g o i fre I g Tt |l w2
HaTgeh 6l "I
The magnitude of induced current depends on all except :
The thickness of the conductor

69. Tr=feriga o & whiv |1 woRITISR e 31 & (ST UishanaTi o foTe Swk B 7
FereRgiIeh g

Which of the following exposure timer is suitable for interventional procedures ?
Electronic timer

70. AT BIhE G o IR -
TwTelt et foig IR areferen Sheft fofg sTeRR A FA R |
In accordance with “line focus principle” —
effective focal spot size is less than actual focal spot size.

71.  TeAfeaa auft res T -1 IS JUTshA ol THTfed id 7, e :
T SE T

All of the following factors affect the X-ray emission spectrum except :
X-ray tube material

72.  wehrel fagga wwmE < SR § ffefaa avft wed v €, faam:
RISt forea TS SRt HHIEHT TR St <ht et UTeR 36 9 STiateh 2

All of the following statements are true about photoelectric effect except :

The probability of the photoelectric effect is directly proportional to the third
power of the X-ray energy.

73. SfquEar Y UR B ® |
SAATERUT HAY <l AATEHS HH TG
Image quality is improved by :
Keeping the exposure time as short as possible
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74. T <61 TR T o5 Hlted o oy § FreAforigd § 8 9 a1 hT Tdl g 7
TYTH Hehed H GUR HTAT ¢ 3R it i forfchor st sl w1 e € |

Which of the following statement is correct regarding compression of anatomy of patient ?
Improves spatial resolution and reduces the patient’s radiation dose.

75. T o e & yer 8, faam
2 fire
All of the following are grid types except :
Closed grid

76. TUCATHIh IXT T FTZ ?
T <l Tg o Gl § YRR o T T o sremEn

What is topographic anatomy ?
The study of deeper parts of the body in relation to the skin surface.

77. IRk ohg | oA 9T T dt 39 & G0 g8 3R aT¢ fewdi # fawrfor iar 2:
HET THAT qe

A plane passing through the centre of the body dividing it into two equal right and left
halves :
Mid-sagittal plane

78. IR T o Tl gt / e giga i wen
Number of tarsal bones in the body :
14

79. AT TSl ol 39 T H Wi AT IR

RGLID

Immovable joints are also known as :
Synarthrosis

80. hehTeT shi WTEUTRTEN wh ffetRaa vt st & <1 Sirar 2, foem
Afess wEatvET

Skeletal muscles are known by all of the following names except :
Involuntary muscles

81. T wfshat feeh g SR ® it st fmior gran 2 :
TS fEd WRRTNEIRTOT
The principal process by which ATP is formed in the body is :
Oxidative phosphorylation

82. fTo=Aforfiaa § @ gf) wfrthfess |rge = ATt 3 witre &, forea
AafTE

All of the following are amino acids with aliphatic side chains except :
Threonine

83. It hfvrehTal o foTu 3Eueh &
i Taa
Stimulus for Ruffini corpuscles are :
Sustained pressure
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84.

gcd gaefl TaHet &
THT (SA) IS

Cardiac pacemaker is :
SA node

8s.

Na-++ Gfshl €9 & Farhi AfcTeht o Ht I | ST o ST ST & Fam 56eh
TR & o0 F U T

Na++ is actively transported out of all parts of the renal tubule except :
the thin portions of the loop of Henle

86.

Ghi fhen teaumh 1 shig 3 3:
oo e itRer g7 ©RT A YeRT9T o SHRUT Uk YT T 3THTERUT

Cross-over in screen film radiography is :

The exposure of an emulsion caused by light from the opposite radiographic
intensifying screen

87.

- fthen <l Galesfictar @ A @M o foru Scafia wehrwr 3fua aar e () =1 gFn =iy,
38 HE AT R :
FuisHH e

The light emitted must be of proper wavelength (colour) to match the sensitivity of the X-ray
film, this is called :

Spectral matching

88.

HeIee CeAumhl § SPS w1 3 8
TR W ShiA

SPS in computed radiography stands for :
Storage Phosphor Screen

89.

i fier wlieo & gy 8 efafgd s a s g ed 8 ?
afem foradia meam amr= wU @ 3-4 92 | sforadiea/ANeRighia SievH a g
AR |

Which of the following is incorrect regarding barium meal examination ?
The barium contrast medium normally reaches ileocaecal junction in 3-4 hours

90.

TIUHS! (HSG) % o foTe sgat &ma &
witeres e it tafer 6 uge 5-10 fom

The preferable time for performing HSG is :
First 5-10 days of the menstrual period

91.

aredt fafertor SRem w1 T@d gu ifvrest =k 1 Ted vl =t @
e S TOT

The most resistant phase of cell cycle in view of external radiation exposure is :
Late S phase
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92.

oI THHT o Tt TR SIS 8:
The threshold dose for skin erythema is :
200Gy

93.

TUEIATToTeh /& R Teeht fagm <t forsiwar 2
(A) 3R (B) FF

Haematologic syndrome is characterized by :
(A) & (B) both

94.

earetiersica ?
Trfemm = e (Cehfees) avE

Radiodermatitis is :
Stochastic effect of radiation

9s.

NCRP &1 379 @
NCRP stands for :
National Council on Radiation Protection and Measurements

96.

T 4 9 ol TSawmReehal 912 @ [STeh] SUART [ohS-1 SHIST H 1T STl &, THaH

All of the following are radiopharmaceutical agents used in kidney imaging except :
GLUT

97.

Technetium-99m b1 aa'lﬁiﬁ Iy fr=fafaa gt %, T
A gk

The clinical use of Technetium-99m are all of the following except :
Breast imaging

98.

MUGA (Fediae T1eE Tfaa e ) Thd Jeied & :
MUGA (Multiple Gated Acquisition) scan is related to :
Cardiac imaging

99.

FratarRea o @ oyt steemEEs dodls &, faam:
THIARHI (MRCP)

All of the following are ultrasound techniques EXCEPT :
MRCP

100.

frforfiea o @ wvil orarerg 3fsi & a1 w2l &, fram 5o
T ek hl TTIEg Bl § TURRTA Bfert i gort | w1 forodiaan 3R TeE w
3Tfrek ARt gie 2 |

All of the following are true regarding harmonic imaging EXCEPT :

The harmonic images of soft tissue tend to have lower contrast and more
artefacts at depth than conventional images.
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@us-2 / Section—2
22 fawa ®ig /Trade Subject Code — 03

T ST AT AT TG 1 / Govt. Instructor or Instructor of Civil Works
66. 3t Tfte o whshie § STfrenan Tftesh fospfa i o &9 H fo=n 1 3 |

The maximum compressive strain in concrete in axial compression is taken as
0.002

67. T H GE (bars) % fTC feoTe o &8 1 g e # €8 & fow R ST ST |

The value of design bond stress for bars in tension shall be increased by for bars in
compression.
25%

68. it I T SAETS AT BIell & STeT ST DR <hl TIHTAROT 3T AT Sl o foreg Ush feam sman 8 2

What is the effective length of column when both the ends are restrained against both
translation and rotation?
0.65 L

69. THIATEG SHicTH hl THTE TLAT JTTITA, TATTh STTUHAH Tl ST T gferd ¢ STl
2|

The effective slenderness ratio of laced column is increased by percent of the actual
maximum slenderness ratio.

5
70.  hshic h TS TR0 H T SRR TIT0T T 1 TR BaTE |
The size of cylindrical test specimen used in compression test of concrete is :
150 mm x 300 mm

71. F%e 31 Y hshic i Tk oh fAT A HTAT ST EHe THTE 9= S & |
A cement with low content is found effective to prevent concrete from sulphate
attack.
C;A

72.  HRITHAT O Hid THT STe W T 3T S Rewehdt g a1 319UTd o YR i Uga
|
JUEIUT JTUTT

Identify the type of slump when one half of the cone slides down while performing the
workability test.
Shear slump

73. TNYSATE AR HIHE W HHT @ |
o .

Honeycomb brick work shall be measured in
sq m

74. TS 3k o foTT Shshle T M AT AT ITIH & ?
Which proportion of concrete is suitable for plain concrete?
1:3:6
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75.

50 =t wfiex 3meft ge <hit AR o foru foraft €ei it STTavereRar grft ?
How many bricks are required for 50 sq m half brick wall?
2500

76.

T ofieha gt & Tew # Tl fashew it vg=m |
Identify the correct option in context of uniformly graded soil.
Dy =Dy

77.

¥ IR TIRE % g Wi 1 o forfi wie oh ST ok wie IS HeT R S g |

A plate load test is carried out by using bearing plate made of mild steel of thickness not
less than

2.5 cm

78.

150 cm & R < HIeK o 18 o foTu HS H@wn W g1 A8 o st ol gl 2|

The distance between two manholes on straight alignment for diameter of sewer above 150
cm is about :

300 m

79.

ITIfTE STt | HiN[E hietissd 3T gfeta srafe ugred @i gemt fferfaa o & fova 3u=m ufshan
SR TR ST 8 7
Stferes foreRma

The removal of colloidal and dissolved organic matter present in waste water is done by which of the
following treatment process ?

Biological growth

80.

g 3rfrar fag <t ug=

Identify the correct mandatory sign.

2

81.

TH. €31 (M.D.R.) &1 0 To&T 13 ?

AR feediare
What is the full form of M.D.R.?
Major District Road

82.

TG oh G 518 ©F 1 Hd e Y AR Gl T g, A gl 2R |
Fiom =Tt 30 & o

When chain is stretched out of the survey line during chaining, the measured distance is
always be more than actual distance

83.

afe geemor foeqa feomeT & & fou o odis i v UM S U R Al wH S
1 3T femat ST =fRT |

BT

If the survey is intended for detailed design work or for accurate earth work calculations
then contour interval should be used.

small
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84. 3MTHITH  FHfAUIUTH T |
1 1 o e He Ot e e
The open traverse is suitable for
surveying a long narrow strip of land
85. TUIeicise grfl Haeto ohid oo fiigiese W Emiia g |
ferarg
While performing survey by using theodolite, the theodolite is supported on
tripod
86. 3TETE SAN & foTq FHit ht =IHaH T =S T2 ?
What is the minimum required width of stair for residential building?
1000 mm
87. =X I Lol bl YHTFIG i It ek o Tey | fou e foehed § & i @1 7Terd 2 7
e forem
Which of the given options is incorrect with reference to factor influencing sanitation of a
house?
Roominess
88. Tou 7T foshedi H § et % $YC feamsd o1 waq + |
HI3H
Select the input device of computer from the given options.
Mouse
89. I UHHAAUTE HEEm ‘N B, S ha@ & ausL anf |
If a staircase has 'N' number of risers, the number of treads would be equal to
N-1
90. 3setfufim  Hrulmng
His[er e Al Ted A
The underpinning is the process of
strengthening an existing foundation
91. <cdl (sunshade) BTGt o foTu ammawash 2 |
T T 37 o g A R R A A
A groove in sunshade is necessary to
prevent rain from creeping and entering the covered area.
92. Tr=fcTiigd # & M A1 T TR 1 TTh{ceh dfeeivd & ?
ezt
Which of the following is a type of natural ventilation?
Window
93, eI 1 9 3 o 1T STTEvTeh ~JaH 99 99 3 |

ST hIA
is the minimum possible time required to accomplish an activity.
Optimistic time

A3 03 22 MASTER




94.

frferfaa o @ fora ga ¥ WA A 8 2
TR g

Which among the following fluid possesses viscosity?
Real fluid

9s.

TRGITTh IS AR HTAM R |

Hydraulic gradient line is the sum of
Pressure head and datum head

96.

TR o8 AT G g S
AU TEA R AR AR AT g |

Aquifuge is that geological formation which
Neither contains nor yields water

97.

o) 6 gefera afen ear feifa s o fore vt gamai a0 w@wan <6 @rgel & foe BT
FL&AT ST Teh ek M 1T & |

A factor of safety of is considered for sites of heavy buildings or structure to
determine safe baring capacity of soil.

2.5¥9/to 3

98.

1 IFAIT 3 <) FATE | AR IaM 3 i, g2 e 311 Sl o fwior o fore fepan
ST 2 |
HE ()

is used in brick masonry for lifting and spreading mortar, cutting of brick and
construction of joints.
Trowel

99.

T hl T8 SR 1 e 9T Sl 36 dEd AfaUet s o fore foeiw st femn St 2,
HEATAT &
2 (grfram)

A lower part of plastered wall where special treatment is given to make it better resistant is
known as
Dado

100.

cart A1 Rageht o %a i fafa o fhe 8 % 918 Go ot fhRl W BIE! T8 TS
(ST FTE 2 |
o ugt ()

is the exposed vertical surface left on the sides of an opening after the door or
window frame has been fitted in position.
Reveal
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66.

Wus-2 / Section-2
2% fawa @i /Trade Subject Code — 04
313%{9135 ﬁﬂ!ﬁ;ﬂ e MiCH 3R&TUT / Power Loom Machine Maintenance

TSR JENT H Yot Ued el (FIee o o) <l o 9 1 S{iehd fohal AT 2 |
3 aeft

Shuttle less looms in power loom industry is classified as :
All of these

67.

Trefires iR ST ST # fawifoma fern ST o 2
it fuferm sk s 3 qwm

Primary motions can further be divided as :
Shedding, picking and beat up motions

68.

T S Heg H SHC I oTed TTe § 5 HIS 2
J gt

Plain weave fabrics made with the help of Power loom are
All of these

69.

UTREH oh! T T GRT (JTd AM) ht STawehdl Bidt & f575eh foTe wgeht amsform #efiA =1 srfashr
¥ fopa T o |
Power loom required stronger warp yarns for which first sizing machine was invented in
1803

70.

TETTd et o Testet! | et oell 79 & 199X TEETeTd &9 9 seel Sl 2 |
A

Automatic Shuttle loom is the power operated machines on which the are changed
automatically.
shuttle

71.

T R S g FU 3N I T 5T RIS I 3R Hdl 8, T8 2
SHITGT I T8k TR 3R i foregun < fofu feorar ot ot sem s 2 |

The main difference which distinguises woven from Non-woven & knitted fabric is the
Crossing yarns over and under which provide stability & resistance to deformation.

72.

{rg 2AIoMT o gt 2 7

Tk 3¢ o A1eaH © foham a1 (a1d) o am TR S 2 |
What does a reed plan indicate ?

How many warp yarns are drawn through each dent

73.

@ 3R TEehe 31 TS GRT ST 7T HUSH hi % &Y T arfiehd fohall SITAT 2 |
TR T T HUR (W i fsrer)

Fabrics made by rib and basket weave are classified as :
Plain weave fabrics

74.

U Torepfta ot T, 3tfae ST <t STawreharsti < ferar | W oft foem forn S =nfau |
3 gt

While developing fabrics, apart from the end use requirements should also be considered :
All of these

75.

TTeTH T TS o fofe a1 o i <6t dard § fefetfaa sem wmifiret &
J gt

The preparation of warp yarns for weaving on power loom involves steps which include
All of these
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76. ST o1 ITANT S huei o fmio § frar san 2 |
EIS|
warping is used in manufacturing of denim fabrics.
Ball
77. Tho| I 3R Teget STfieT g o foTt 3T & |
creels are suitable for both sectional and direct warping.
Trolley
78.

T ot TR I ER Ul S & |
e A

Water soluble sizes create problem in :
Water jet

79.

T I T, 3T 3H TehR h{ET ScdTeehdl, fohdeh g Afes h STt @ 7
ufd fime o= it wen

The speed of a loom, and thus the loom productivity, is designated by:
Number of Weft per minute

80.

A W o ToT0 form bR 3 71 (L) | J&Iw T SR T STt 2 7
YA T (NAFTSA )

In which type of loom projectile is used to insert the filling yarns :
Projectile loom

81, T B, T T T S S e () 5, 5 T 5 e A (e A &) 7 S g
HR-IR AT AR |
& (SiaeTset)
A is a small, light griper device that is propelled across the loom, pulling the filling yarn
behind it :
Projectile
82. U IcUTEH 3TN HfHd TgHET < R 39 % |1 9 fea T R |
TIE o
Because of low production and limited versatility it is replaced with
airjet loom
83. MW T T IUANT WA ITNT (NS TSHT) o foTq qehfiehl T&I T IcATET HH & foTg
I 1fer ATeT L1 3BT ST hleh FohAT ST & |
AR o
Rapier loom is used to produce technical textiles for automotive industry by using high
strength fibers.
Kevlar

84.

ToRTT <1 TR BT Y ASTE qF B b foru T Sran 2 fom §1E % forw amd % s w
ST =T |
MG (AT)

crimp is used to decide the length of yarn that needs to be placed on warper’s beam to
weave.

Warp

8s.

ETerd TS HefiAl Y fororyarat & M & |
AL (Ve Fger ) IR (o Fgern)

Features of Automatic weaving machines include :
Both (shuttle changing) & (pirn changing)
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86. difam afe fSHw seet 99 WS & WISH W MATHR 9 T I Hd 8, I3 AHAR | ¢ Hfifem
T3’ a1 AT 2 |
TNATHRR

Weaving machines in which shuttles travel on a circular path through the wave shed are generally
referred to as weaving machines’.

circular

87. ?ﬁaﬁmmﬁﬁaﬁﬁ@z(m)éﬂ?ﬁﬁ%%wwﬁgﬁ%mw%ﬁﬁ Mt
|
3 av

Single phase machines are classified in accordance with their weft insertion method which includes :
All of these

88. WM Y& T I TS had 2
90 foredt 3R 40 T\

The standard projectile is long and weighs only
90 mm & 40 gms

89. afa Jcft whards Ted vet 1991 ¥ T ST T AT |
Ut
Quick Style Change was first shown by in 1991.

Picanol

90. e T $TH Y ToRElt Teh o 3o T STet I ShT IR ek TOhfeTT I <hl G <h TR o ST &
Tt = g

Jet loom take the filling yarn across the loom by using a high speed jet of
water or air

91. TR ST T HId §U 3T AgH il J1T oh ShUSH oh [e1¢ ST fohart Sira & 919 foh
3 weft

Air jet looms are used for spun and filament yarn fabrics such as those found in :
All of these

92, T ST T Tohwreh foT Ted g 8 7
ATAA

Water Jet looms are best suitable for
nylon

93. TCEIHhS o[ Ueh deh-1eh off 78 e femarm T o
T §U HUS hl IAUTEH T H Jleg HEA o o0
Multiphase loom was a technology introduced to
increase the production rate of woven fabrics.

94, TN 2 TS Fd THH LT 9Tt Tq o 31 e AT |
a st
Simple 2 ply yarn will be more stronger than the yarn with same composition.
All of these

95. g Hfsren TTs Hisrd | 3TN BT & FiTh
TAE o 191 i ST ek -9 T forehita & st 2 |
Napped fabric is different from pile fabrics as :
nap surface is developed by brushing up fibers of the surface.

A3_04 26 MASTER




96.

T | &4 20 < any fefer o FAIAE |
oo | Voo
With machine made tapestry, the filling yarns are woven from :

Selvage to selvage

97.

ordl Th HHIS 2 |

TUHT (F=eM)
Khadi is a fabric.
Handloom

98.

SereITe TestTg bl mTa |1, |IeH, faet & 3tferes 2t 2
T () TATfUa e <l T o HROT

Jacquard design cost is more than plain, satin, twill because :
loom set up cost

99.

TITSIE TS HfH SATHAR T & 1Y JefeTd she Bodsl 1 IcaTed il 2 |
oE|

Airjet weaving machines typically produce cut selvages reinforced with
Leno

100. T §U HUS §3 §U HUS! § 3T I & Fifh STH I B 2 |

o B S e (SR T)
Woven fabrics are different from knitted fabrics as they involve :
Inter placement of yarns
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@us-2 / Section — 2
22 fawa ®ig /Trade Subject Code — 05

313%5175 §'|31T wug fiféT / Instructor Drawing and Printing
66. T ITANT RIS (RIP) & ITH 9 T bl wie Arft W fiehis ot o fore
fepen ST 2 |
TSR TRt (SaTetrsit)

is used to record visual information received from RIP onto plate

material.
Laser Technology

67. Bfa M & forg SHITS o |1 EE AT TYeh hT IUFTT el T 8 |

i grdere fiieR
does not use direct mechanical contact with the paper to create image.
Non impact printer

68. o3 mithers fesTe soive (qca) HFR Ueh TS IS, Tl IT &4 h bl Wi &9 9 7
amfeeh ®9 ¥ yfdaffre & afga % &9 H ST ST ¢ |
i

Distinctive graphic design element often including representing an organization product,
service or person either independently or collectively is known as

Logo
69. 7%@@@3‘%%&%@@%, HIEdT 3R @ < T ! =0T Ad & |
TR (TEEE)
compounds control ink characteristics like tack, workability and drying time.
Additive
70. T §5-U8 ThRM (HeI-US Teciiohe ) o Teeh I8 W EHT(erd &9 § Seord! T3t o €19
Tehe B ATSl 13713 ST 1 ey g Seft &1 HE A2 |
AR U

The particular page style of a layout program that appears on every page of a multi-page
publication with automatic changing numbers is called
Master page

71. U B I R 3R a1 Feafe & gam o6 HEITHTETICE |
WA Jade (U9 IchAT)

Turning of an image as to right and left position is known as
Lateral Reversal

72.  Tordft IcdTe, BT A1 foma o1 SigTa < < fora wefsia <t S areft =nson = fogmoe ste
JTehYeh e U shi HEIAAE |
o £y

Eye catching printed paper carrying an announcement or advertisement that is exhibited to
promote a product, event or idea is called
Poster
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73.  HATHEC I 1 B &3 7T TTET <hl TEUTIeAdT bl &I <l &, 36 HETIETR |
TATEE 3
Image area of offset plate loses its ink receptivity is called
Blind image
74. Tora BRI T § 1 BRI AE R 7
TR BRI
Which screening technology has no screen angles ?
FM screening
75. SRR TEGA ST AT T I TEET ¢ o T78 o 3R /A1 Bl o1 STAW i F1eTl g
TORHITHET  HeAI 2 |
PURE RS 2]
A form of visual communication using text and/or images to present information or to
promote a message is called
Graphic Design
76. TR w9 Y Ufdm, qEfit, g, mfthes el S I €9 U g 99 1 AThNd Sl 7, 39
 HEIATAIAEIR |
39 et (farsgarat o)
Permanent form such as paintings, photographs, sculptures, graphic art which primarily
appeals to our sense is known as .
Visual Art
77. TSS9 9Tel G99 Al ohl GeAared Jeqfd i % €Y H SHT 911 8 |
e
Orderly presentation of visual elements that form a design is known as
Syntax
78. T TSRl 3T T ok S ST ehi WUTS i oh 1T Feheard] TT & 1 G
& W STeh! ¥ fawaria s a1 fepied i fafur 2 |
aﬁ“ is the method of expanding or shrinking an adjacent colour area into
another area minutely to compensate mis-registration or gaps between colours.
Trapping
79. S ITFTET HT ITHR 2|
Size of demy octavo is
5.62 x 8.75
80. HITE HIScT ol I5h YA IR H 19T T hi ToReaTor Jfsha <l % &Y H AT
SR |
fesmuem
Process of expanding a compressed file back to its original size is knownas .
Decompression
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81.

TSl 1 TS HIel TaTgsh™ Hagl i fHfora s areft ggur wfsham St weh o Jomeft o mrerm |
Teh B o T&UY GRI el €9 & fewamst gt @, 39 HE AR |
SRS

The printing process employing charged photo conductive surfaces which selectively discharge by
projection of an image through a lens system is called

Xerography

82.

AT & b foT STehg! 31 GH:9TH T SIS § (IR WIER USRI sl HaT Ml g |
AL

Fibrous material prepared from wood or recovered waste paper for manufacturing paper is
called

Pulp

83.

fuifen =1 wafta, feftea @ e fifén i e gt 2 |
T fewre
printing can also be referred to as quick, digital or custom printing.
On demand

84.

Teh TS <6l <l Tefal o ST 6l wierad gl 2
FoTm

The perpendicular distance between two surfaces of a paper is
Calliper

8s.

T A1 ITIH % R QfTs IHTE % 91 < TS TS HEIATE |
ot

Printing accomplished with a relief effect caused by heat or temperature is called .
Thermography

86.

frreferfiaa & & s a1 v foren wem T 8 ¢
T <t faeme (e wreh)

Which of the following is NOT a quality control aid ?
Gripper mark

87.

I TR g3 1 fora fearsm w1 3w 9 i fewrn seea & fou feran sman @ 2
TRER

Which device in web offset machine is used to change the direction of web ?
Turner bar

88.

gfafetf (reproduction) gf\g Y T gl AA B AR ?
IUR (grSeTse)

Which area is lightest area in reproduction ?
Highlight
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89.

R ATeTd TN ST 816 TH S Fa1 i 3¢ Agfoses &9 4 Balrd 7, 98 7
Wrehfresh BRIt

A computer driven algorithm that disperses halftone dot information in semi random form is

Stochastic Screening

90.

feser W amenfid genga nafafer 2 |
TEATHERAT 3R T (FRudiEidl Us wHe )

Design is fundamental activity based on .
Creativity and innovation

91.

SHissae ANTIE ATFCII TUTH T (ShedT) I 28U (ThR) hl ST W o fow
61 UTitheh &A1 hl STFT AT 8 |

UrefeRE v

Object oriented software program use the graphic capabilities of the to maintain
the art and type.

Postscript language

92.

Sy ars i AT R AT RS R
e

Measurement unit of paper in British standard is
Inch

93.

TR fafeiet @ srffr @ Pl o s Ffaw . wTwmm e S g |
BF 5

To wipe off the excess ink from gravure cylinder is used.
Doctor blade

94.

BIE WA & e i fic T o 7w fovd wie o1 Swim fopen sman @ 7
it

Which plates are used to print small quantity jobs ?
Photopolymer

9s.

U131 Em = 5 |
Pica Em = points.
12

96.

Ao Ug SET3E BICHT 1 & T INT (2 el 3hae) AR HA I FRIT@IL |
EPEICC]

To print black and white photograph in two colour effect is known as
Duotone

MASTER 31 A3 05




97. FEeI (Quarto) TR T 3L &
Teh § A5 <k 4 THI

Quarto size means
4 divisions of same size

98. IATHEC W< hl TR BT & (19 30T TEM) Sl
T SRl 3RS e

Non image area of offset plate should .
Attract water

99. SHATS FHIUT < TR TS Shi TG I THHER SHM o AT, AR <h SRR B
gl
TR
To make paper surface glossy during paper manufacturing  treatment is needed.
Glazing

100. 19 91 dehteh! e fefted exarasti shl gwier star 8 difes I8 St S deh foh o Tse fufen
% foau gdies s AIRE 7

HATSe

Which technical control reviews digital documents to check that they are correct and ready
for right printing ?
Preflight
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WUsS-2 / Section-2
22 fawa ®ig /Trade Subject Code — 06

313&5175 §=|T§ / Knitting Instructor
66. @ famior § BeT %1 312 7
TR (weft) o T AT I il GHT (warp) @ﬁﬂ?ﬂﬁa:ﬂ |

Shedding in textile manufacturing means
allowing shuttle containing weft yarn to pass through the warp yarns.

67. FEXTT % A hl TR A o feTg JUTTEt <1 SRART fehert ST 2 |
S\ TR 3R Ser TR
For the preparation of grey warps systems are used.
Beam warping and Ball Warping

68. HUST HATTA o AT T ATSH ATEIST-eh & o TS| H WATHA &
T asft

Public sector organisations falling under ministry of textiles includes:
All of these

69. dASE IR HIEU foheh! HEdT & T 1A & ?
AF TS Sa
Velvets and Corduroys are made with the help of
Weft pile weave

70.  TTEA TS o foTu WA fohT S aret g4 shl =Had T 2l

Minimum number of harness used for satin weave are :

5
71.  Wfsrepar fafer fed g ot Seraiftin gt 8, 3 HE IR |
i

Fabrication method in which interlacing of yarns takes place is called

weaving
72. hIST ST 30 3FE TR = & U TG 2 s ge®9 8 wfqugwamne |
3 a
Kota Doria is famous for its unique square checks and is mainly woven for
All of these

73. SARH % T 3R off TR W TG SHRE Sehg §H1 A1 8, 9 I8 &

Other places where Banaras brocade is woven, apart from banaras and those places are

Mirzapur, Chandauli, Bhadohi, Jaunpur
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74.

BIHTT (EH) TS TN ! o BT KT THE T FHAT HLAT IST 2 |
agfaa femum

The handloom weaving industry have faced a huge loss due to :
Inappropriate marketing

75.

o HTY &3 o GgR el o TTal § Fmicern 8 § 700 H1e G R Shell
TEferd 2 |

Sd

A 700-year-old handloom art under the name Tangaliya is prevalent in the villages of the
district of Surendranagar in the Saurashtra region of
Gujarat

76.

T % TR, STHAR T AT Al TS o fot T fie o[ () 1 Sugm 64 2, T 58
LR ICISICINS

ke

The weavers of Banaras, generally use old pit looms for weaving sarees which are known
as:

Brocades

77.

ThIhd ShivTel forehT®l AISTHT el I[E o1 T8 off ?
Integrated Skill development scheme was launched in
2010

78.

aehe IR i ferfaerand € |
T () TS

Basket and rib weave are the variations of
Plain weave

79.

AR I EAISHBIHA BT |
T 1, gHE 2, TAE 1, THE 2, 3R 36 0@

In plain weave the order of lifting the harness is :
harness 1, harness 2, harness 1, harness 2, and so on

80.

I BT (ZSc) I o 7T 94 2 3T TR o EhRI i1 o o 3639 8
T e T e |
WIE 3R 7 U e forem atferfem, 1953

was passed with the objective of raising funds and creating weavers’ co-operative
organizations for the handloom industry.
The Khadi and Other Handloom Industries Development Act, 1953

81.

frgd &l vgam “Oe Fa” g 6l STt & 5 H @z |
22 Ui 59

Reeds are identified by a “reed number” which is the number of
dents per inch
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82. faaet TS hl Heg ¥ AT I Tt SHuS H It &

T |t
Fabric which are made with the help of Twill weave includes
All of these
83. A M g wfcrentid fopa T 2l
A o FH

Shuttle loom are replaced by
Shuttle less looms

84. HI (IH) ol 0 T S (FTARTT) i HE AT |
ifert

Interlacing of yarns is called
Weaving

85. Il LN I YA Hih MU TH AN RIS B8 |
Fabrics which are made by using wool fibers are
Melton, Tartan, Wool Gabardine, Tweed

86. T ST WM 1 SATferseh fohereh gRT femerm o 2 2
A T St

The original Jacquard machine is invented by
Joseph Marie Jacquard

87. Ui hl & T g farenfya feran ST ashaT 2 |
A TS

The selevage can be developed by using
Leno weave

88. Toias & B B
J |t

The advantages of selvedge is
All of these

89. TS % SN HUS hi Hehiuldr i 1 TN hleh Uehl ST Tehdl & |
2

The narrowing of fabric during weaving can be prevented by using

temple
90. w@mwwmﬁmi%wm% |
de et (forg)
While weaving a fabric on a loom, the width of the fabric is equals to the
reed width
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91. dihal ga (M) Freet 3w S i fewm & foren <1 wehan @, fehdeh 3tavia AT g 7
AAeE I (T Ha)
Boucle yarn which can be used in weft direction falls under:
Novelty Yarn

92, I AU TEATET o |1 FATS § IMASA &
el g
Weave with small geometrical designs includes:
Dobby weave

93. I TS (<ftar) ferory ww & fepwreh forw st fepan ST @ 7
3 weft

Lono weave is especially used for
All of these

94, TN TS SEHI Teh IETET &
feae

Herringbone weave is an example of
twill

95. - gU fesirea fafes am o @i (I = fobfer gat () w1 37T Steh i e fepu S
Hehdl & 37 3HehT ICTET &
fereTa waie Uet
Woven designs can also be obtained by using extra warp yarns or filling yarns and the
example for the same is :

Clip spot patterns

96. U< IS T TAN b TS <hl qehriieh H fehaT AT B ?
SreFTE FATE
Punch cards is used in which weaving technique ?
Jacquard weave

97. 2felt festred s < foru fopaft Stiereraw wen & g@ 1 3w fohar STt 8 7
To create dobby design maximum number of harness used are
32

98. e weh U Tewre & T o S €9 31 S (H19%) B £ |
et

pattern is a design that contains simple geometrical forms and motifs:
Dobby

99, fafsre efm wue YA E |
v, e T A
Typical denim fabrics are woven from
coarse, indigo—dyed cotton yarn

100. ¥ T IcATEH hid THY Gl TN < fTae el Id &
While production of yarn two types of twist are inserted
S&Z
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WUsS-2 / Section-2
22 fawa ®ig /Trade Subject Code — 07

S A AT / Instructor Soap Phenyl

66. T T YA FTEH S 1w fmforfiad & & fope st & fRua @ 2
-

The first soap making plant in India was situated in which of the following cities ?
Meerut

67. TATSHET A foheeh gRT U foha TR o 7
1895 ¥ e sigH

Lifebuoy soap was introduced by
Lever brothers in 1895

68. 1918 o, wRd 3! Tgel Taesft e fmior e fera eonfua <t ?
off SYEST 2Tt

In 1918, who set up India’s first indigenous soap manufacturing unit ?
Mr. Jamsedji Tata

69. HICTIATEI fehweh &9 | wfeTiv forem S ashaT 2 7
SR Tt

Disinfectant can be defined as
All of these

70. g IEwT A fae <A i g
TS

Limit of investment in small scale industries is
Ten crores

71. FRAIIA T IERIAEAE ?
Aifeam <Rae

Which of the following is an ordinary soap ?
Sodium stearate

72.  @TeA fmior 6t s fawrs wfafsean HEA 2 |
TIESICATEH 2R
Fat splitting reaction of soap manufacturing takes place in
Hydrolysis tower

73. & o HIgH I WA BT R
I=9 %l uftre & qiedEm wam

Bath soap is a mixture of :
Potassium salts of higher fatty acids
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74.

frferiad o @ s |1 98 & 191 1 & 9<h @ 7
arefrm Eme

Which of the following is the main component of bathing soap ?
Potassium stearate

75.

TS 1 TERIHS 3 &
(A) 3R (B) G4

The chemical formula of soap is

76.

Both (A) and (B)
R :
FIATESA TAFLIATEE
Soap is :

Colloidal electrolyte

77.

frrferRaa o @ ferereh sHor Ao TTeH SAUH T A & 2
Aifgam AfTe

Due to which of the following, Shaving soaps give extensive lather ?
Sodium rosinate

78.

TTeH o TmToT 6T sk =i HE AR |
Tuififtrery™

The process of manufacturing of soap is called
Saponification

79.

frfetftad o @ o |1 3 3euTe ATeH S % G ST 8 7
et

Which of the following is the by product formed during soap formation ?
Glycerol

80.

T o froratiet w4t iy ST 8 7
o0 & T e ¥ B

Why is Glycerol added to soap ?
To prevent rapid drying.

81.

G AT ST % HRT TH TfshaT h EHT R |
Tt § I geAvierdn

Soft soaps are the limitation of hot process because of their
High solubility in water

82.

Qiferm @req # frerada 3t Ui fepafere firemé st 2 7
g i TH A W SR TR 6l S W |

In shaving soaps glycerine and rosin are added to
Maintain soap moisture and produce lather

83.

T I T | M B &
g Ul

Soaps perfectly work with
Soft water
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84. ThTset whg fomeeciia o8 o & 4 fews <o & e fhamset 1 1ia Bl @ SR IE &
U | 3Ted gt
Phenyl appears as white crystalline solid which has a phenylic smell and it is
Poorly soluble in water

85. TohTgct foreres &9 § g fopam ST @ 2
3 g+t

Phenyl is used as
All of these

86. 3ATSTohcl AT H TETEY 3R TT=3dT o Jid SITTEehdl S o 91

frEa R am A gfg g |

With the increase in the awareness of health and hygiene among people nowadays
the demand for phenyl has increased.

87. ST T 3UCTsY Y@ YR & el g |
=

Major types of phenyl available in market are
Three

88. TR AT SH 7T TN oh! IE HLH o [T TATS 311 T&l & fohdeh T ST & 7
THTHTHS A1

Govt. schemes run for the start-up of small scale industries comes under.
MSME scheme

89. WId TR g1 MSME & T a8 2022-23 1 &1 @
721,422 &

In the year 2022-23 the budget for MSME by Govt of India is
% 21,422 crores

90. 3T T Y&H, T TF HEAW ITH TIcdTe it -2022 < Taid, Y&H, Tg Td Head Jewi o
Toft 72 3TNk SRTET Bl 3hTS URH B o feaish ° Y deh f=IRT % EPF o 31
gfcrerd 3791 <At Tfergfd T g <t SR |

Under the Uttar Pradesh Micro, Small and Medium Enterprises Promotion Policy-2022,

reimbursement of 100 percent of the employer’s EPF by the state to all new industrial units

in micro, small and medium enterprises from the date of commencement of the unit to
years will be done.

5
91. = ¥ HISI I gL H o foru frferliaa o & fopdt fhrrset =61 IwIT fohat ST 2 2
a |t

Which of the following phenyl is used for removing insects from homes ?
All of these
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92.

Torrset o fmior § 3THAR W 3Ea| T 819 9Tt =T JIeA
AR, wfEesw Hiet, S T 9, shEe &l del

The raw materials generally used in the manufacture of phenyl is
Rosin, caustic soda, castor oil, Cresote oil

93.

freafafad 9 @ fore ST 1 389 ATk TaTeey GIaenati ¥ wesdl § gUR ¥ Geia
TR T3 <l ST ST TS HEAT R 7

FHTTEhed JUEEhRR
Which of the following scheme’s objective is to create and share sustainable practices

related to improving cleanliness in public health facilities ?
Kayakalp award

94.

Tt < 1 38 A © fharse firerar 8
gferen U

On addition with water phenyl gives
Milky emulsion

9s.

Torea & famiu 4 fr=fafga 8 9 forg == 71 =51 3T 48 fepan San @ 2
HITReAt T At

Which of the following raw materials is not used in the manufacture of phenyl ?
Groundnut oil

96.

frfetiaa shreh! § | i &1 T foroIy &3 | Ush IUNT o T H godl Tgeaqut Jfies Fumar 2 ¢
T | HH I AR

Which one of the following factor plays the most important role in the location of an
industry in a particular region ?
Least production cost

97.

A § ThATsel, TR Fefivt S S8 o7 3T <hT fieht
3 [eft

Role of Small industry like Phenyl Floor Cleaner Making in India
All of these

98.

TS, Tt FreftfT Iem SE o7y S <hl Tued &
T |t

Problems of Small-Scale Industries like phenyl floor cleaning industry are
All of these

99.

T3 1 38 &9 § Y T fomar Smar |
g gl

Phenyl is also used as
All of these

100.

TorTset Tes Stee “har @ forem e 8, fSeepr 312l 8
AT

Phenyl was derived from the Greek “phaino”, which means
Shining
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WUusS-2 / Section-2
22 fawa ®ig /Trade Subject Code — 08

TSI g (ST @A) / Laboratory Assistant (Biochemistry)

66. T U Y TH e AE 2
Thees

One of the following is not an aldose.
Fructose

67. T § U A STeT SgIRhA (AAhIgs) HERUT 2l
wr

The storage polysaccharide that is found in plants is
Starch

68. UMM o W (TUg) I UgaH |
TR 3R eI

Identify the set of epimers.
Glucose and galactose

69. foitha o1 Gftre &Y
Abbreviation of Tryptophan
W

70. STl 70 @13E =4 A | 7 uhre J disg 2T g 7
Tt

Benzyl group side chain is present in which one of the amino acids ?
Phenylalanine

71. < 3T TS Y IS TLE |
(B) 3 (C) 3+
Two amino acids are linked by
Both (B) & (O)

72. S i eren A1 H U Hifdes 3= fshamd
TESN AT+gH 3R ULTEE ivgd
Physical interactions present in tertiary structure of protein
Hydrogen bonds and peptide bonds

73. U=ATSH ohl STUIEIE 9T haadTdl &
HICATSH

Non-Protein part of enzyme is called
Coenzyme

74, SRA TS & gfaeasf sty
TATRATA

Competitive inhibitor of xanthine oxidase
Allopurinol
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75.

1 & & WA iesmem 2 |
Protein coenzyme from the following is
CoA

76.

USTEH Tore < foRanTferfes o1 ofieh 31 <h Hieet fohteh gRI feaT TR & 7
ot fRor

Lock and key model of mechanism of enzyme action is given by
Emil Fischer

77.

RNA St mRNA ¥ b b1 THAT Uftrg & 313sp § fmTgee tanfed i &

RNA that faithfully translate the information in mRNA into sequence of Amino acids
tRNA

78.

yfafsran sl ISR A Tl TSTEH 61 Tg=E |

Ribose 5-P
5-Formaminoimidazole
4-carboxamide
ribosyl 5-phosphate

HZO%
0

[
C N
| | cH
\N/ I?I
Ribose 5-P
Inosine monophosphate
Identify the enzyme that catalyse the reaction

Cyclohydrolase

79.

foreTfer w1 fepe foam 2
ek

Who coined the term vitamin ?
Funk

80.

R EEIENIEE AR KR IEERED
eIt

Antimetabolite of riboflavin
Galactoflavin

81.

TATFEEE o AT Uere 1 had &
e

Genetic material of a plastid is called as
Plastome
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82. & WA 2H,0 + 2A ——— 2AH, +O,, A FIT AT ?
oG TRl (TR

Hill reaction 2H,0 +2A ——— 2AH, +0,. What does A represent ?

Electron acceptor

83. RSN | Yehre =¥ IS0k 2ld @ :
TIghITae

Light harvesting pigments in Cyanobacteria are
Phycobilins

84. WwraftEen [[ o wu @ HHNER |

1. I ATCAThIESH

1. 9 ATIAThI3SH

111, UTIATHIZSH o Hol &

V. ATTATHIZZH o FTETH &
I 3R 101

Photosystem II is present exclusively in

L. Granal thylakoids

II.  Stromal Thylakoids

III.  Appressed regions of thylakoids

IV. Non-appressed regions of thylakoids
I & 111

85. IfTeior foh R i oot shircied | Hivig 31 uftre
TR

Amino acid present in Oxygen evolving complex

Tyrosine

86. ik qut shifsre

Complete the reaction :

aH,O + bPhotons + cNADP" + dADP + ePi

— O, + fATP + gNADPH
2,8,2,3,3,3,2

87. C, <% H S STeTl U1 TR 3G
3—TRIERITToTERE
1% stable product formed in C; cycle

3-Phosphoglycerate
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88. FHRIT-6- BT + fRTICEATEE-3- Hiohe — 2 BTN S-HEhe + TRUS —4-
HIThS

gfcfshem § TSTEH "A" 8

29 Tegeid
Fructose-6- Phosphate + Glyceraldehyde-3- Phosphate L>Xy1ulose S-phosphate +
Erythrose-4- Phosphate

Enzyme “A” in reaction

trans aldolase

89. C,=% HE@E |
FAREARE
C, cycle occurs in

Chloroplast

90. 3= Pl T ok AT § Sk USITeH
TR SATSHTEN

Enzyme utilized in manufacture of high-fructose syrup

Glucose isomerase

91. Uil TS & FHEeT=

Q) HAeE

(i) TEUREE

(i) Hehi™
3 geft

Synonyms of Polyphenol Oxidase
(i) Phenolase

(i1))  Tyrosinase

(ii1)  Catecholase

All of these

92. &7 firerrd wfefsran 1 & b Tha & 7
= qromm, sEHiEAES dive @& i die™

How can we prevent Millard reaction ?

Low temperature, pH below Isoelectric pH
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93. RS el H SEIHTE B dTel 3ThTe-eh TERA

3t (A) R (B)
Inorganic Chemicals used in food colouring
Both (A) & (B)
94. TH T M | USTEH R TS bl AT & 7
[ECK |
In milk which enzyme breaks down sugar lactose ?
Lactase
95. I T W UIYeh Tqcdl T8l & ?
LELEL
Which is not a food nutrient ?
Enzyme
96. fr=AfoiRad & & S HH % qEH T A I e SHIAT R 7
T o 3TULT o St grEeie dteed (JE)

Which of the following makes water a liquid at room temperature?
Hydrogen bonds between water molecules

97. TUSTSH hidiod § Km 1 drcqd &
HSHIE HehgUT Sl SNV, <1

In enzyme kinetics Km implies

The substrate concentration that gives one half Vv

98. o7 foftr formes gr feneft o g2 N bt aferrt o Toieht ol 37T foha ST TehaT 2,
FHEAT & |
U ShiAZIThL

The method by which leaf pigments of any green plant can be separated is called as
Paper chromatography

99. W7
TTCATHeRUISE
Agar is
Polysaccharide

100. Tsh TeTel SIS SITST ST 3 ST TG ohi ST Tl & 31N TaTe # e ohid ¢,
FHEATA S |
e I

A substance intentionally added that preserves flavour and improves taste is called
Food additive
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WUus-2 / Section—2
2g fawa wig /Trade Subject Code — 09

TR gk (IR feran femm) / Laboratory Assistant (Physiology)
66. HEC Hed b G JHAAENE 00 HUE IS |
LLin)

Maximum post-harvest losses are found in
Papaya

67. 3 07 <! HelHd hidr g e o dier =1 qig o1 f&we gt |id § 37er 8 o 91g
FISHTEE ST W@ ¥ 9efm a1 2 |

MICUTE R POkl

refers to stage at which plant or plant part is able to continue ontogenesis
after detachment from mother source.

Physiological maturity

68. 311Gl 1 =Y BT feh et ShT BHet T T Fh & 7
I

Flattening of eyes is the maturity indices of which fruit crops ?
Pineapple

69. WSS 1 TNFdT FIHH &
A

Maturity indices of Muskmelon is...
Netting

70. TR-Hied ol b 9 4 Fefdafga d @ PR m s i ® 7
T % S T Icten o forn vare | emar fivrere

Which of the following statements about non-climatic fruits is correct ?
Steady decline in respiration without ethylene production during ripening

1. - AN HA R |

a a
is the non-climatic fruit.
All of these
72.  HHA e o WG ! USRI H SHHTA B aTeTl TR sTatias 2|
a |
Ethylene inhibitors used in post-harvest practices
All of these
73. AT I HiH ITER AT 9T Fehat ST 2 |
Artificial curing of onion is done at temperature.
40 °C
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74. 3fiq forEshmor HEIH H I AR |
\Eawc]

Cold sterilization is also known as
Irradiation

75.  f=fafigd 8 @ = w8 e & 91e o IT=R & Idd A8 7
J |t

Which one of the following comes under post-harvest treatment ?
All of these

76. THEEIT (APEDA) 1 319 2

APEDA stands for
Agricultural and Processed Food Products Export Development Authority
77. I HRHUT Shi o ohid oh foTT ATH 1 TH I & 3TN o AT W R ST R |

Hot water treatment of mango is performed for reduction of fungal infection at
temperature of
50 °C

78. FﬁT%FT (precooling)%aﬁﬁ:ﬂ%ﬁﬂm ferehedl T © TTetd hH o1 <3 i :
yae i |TH g

Choose the incorrect statement about precooling from the options given below :
Increase in rate of respiration

79.  IF T SET] Geusiia T o SN He § GUs! g4 %1 R ST R 7
TS THYTT

Which bacterial microorganism causes spoilage in apple during storage ?
Pseudomonas spp.

80. HEIA o S G &l Sl ShH i o (1T fohH THII HI ITART fohall AT & 7
fhemget sEmAe

Which chemical is used for alleviation of chilling injury during storage ?
Methyl jasmonate

81. JAThI o W ITTNT § Bl 3T Fiewal § Hash doil o fered 2 |
EIEAN L]

Heavy application of fertilisers causes faster tissue deterioration in fruits and
vegetables.
Nitrogenous

82. & 1 fISAI (PGR) T o &G o T 37 e g Hedl H A o foTe gl Icoa shtar 8 7
Aferfaferes ufire

Which PGR induces resistance for post-harvest diseases and browning in cut fruits ?
Salicylic acid
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83.

CA TUgv frfci S aR § R Hal 8 7
0; 8 ufaer | {i=t 3iR CO; 1 g ¥ W

What is right about CA storage conditions ?
Oz below 8 per cent and CO:2 above 1 per cent

84.

TSR § hfcwad Y st ¥ i 91 Iiies faepr g e ?
St wie, shehi

Which physiological disorder of carrot is caused due to deficiency of calcium ?

Cavity spot, Cracking

8s.

WISl 3R A8gH § ST=R(curing) % foTU S8aH aOH M 1 8 ?
What is optimum temperature for curing in onion and garlic ?
27-35°C

86.

g1 Sl uferar o1 gt &8 w7
T

How to determine the maturity of persimmons ?
Astringency

87.

a1 gaify fore Bt hl HHA H HI AT B 7
foza (w2 %)

Degreening is carried out in which fruit crop ?
Citrus

88.

Tehal o T el § I 91 Shlal-eh 377 9¢ ATl & 7
Aferer T

Which organic acid increases in banana during ripening ?
Malic acid

89.

o difet (Flame peeling) <p1 Fd B L
1000 °C & ferer T gt % weam | W 5 frvtewa |

Flame peeling means
Peeling of food through a furnace heated to higher than 1000 °C

90.

18 T (Lye peeling) &1 ST Jrfereha fopE Tesil o foTu fopam STaT 2 2
SR

Lye peeling mostly used for which vegetable ?
Carrot

91.

T gt <6 st fopd TomE TRl ST E 7

Hot water blanching is done at what temperature ?
100 °C

92.

gt g <A % =it ol =T HET AR ?
g s

A solution of sugar in water is called
Syruping
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93, T U9 i § IrSI3fict Tk ITT SA1d @ 7
foze

Which volatile components found in green apple ?
Citral

94. TS o SIG o JehET ohl HIH fohci SITRId hH AT 2 7

How much percentage wax reduces post-harvest losses ?
30-50 %

95, hice RS H 37 o foTu fopm 9™ 37T 31T 0 SR 1 =mfey 7

For Mango what temperature and humidity should be stressed in cold storage ?
7-10 °C, 85-90

96. <RH UTSHRIA H I Holl 3Td hed H foheT ATTHH hHH TR ST & ?

How much temperature is reduced in zero energy cool chamber during peak summer ?

17-18 °C
97. ferfieptor arfar AT T 2 |
Freezing injury occurs at temperature.
-1.5to-1°C
98. 3T % BATS URaEH o foTC fer® FehfST SheR o SaTaaTiies ST foha ST @ 7
AR WIgeR IS T

For air transport of mango, which packaging container is used commercially ?
Corrugated fiber board boxes

99. 1}@?{ I - BT, ST Ug SeTettott (Central Post-Harvest Engineering and
Technology) (CIPHET)  #fea |

e

Central Post-Harvest Engineering and Technology (CIPHET) is located at .
Ludhiana

100. QT 3ITE AT (Food Products Order) (FPO) Tepa o 31mam o1 ?
Food Products Order (FPO) came in which year ?
1955
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@us-2 / Section — 2
22 fawa ®ig /Trade Subject Code — 10

TIRTIET g (WEH) / Laboratory Assistant (Chemistry)

66. T ¥ U T8 IV FEIACR |
% &I (K shell)

The first shell adjacent to the nucleus is called
K shell

67. 3TTad ARt H U qedt ook STedt Shiet § Ush S Soiagi= aldT &, 98 ohd Tg § U J1d & 7
g |

Elements with one S electron in their outer shell are considered in which group in periodic
table ?
Group I

68. hicHIH (Ca) T THTY VR :
Atomic weight of Calcium (Ca) :
40.08

69. TETHf~eh FreITaET | HeaTard} SrirshaT o1 m 37 2 2
ST 1 ShA - ™

Exothermic reaction in chemical equilibria means
Evolution of heat

70. 9% A9EH 8 W ST T GETE W 9eTe 1 U €9 G 9 1 IREhid i g, FHEAT 3 |
HEHAUT ATTHH
The temperature at which one form of substance changes into another form at a given

pressure is called
Transition temperature

71, UHifeH e & foaom fes . 2

Dissociation constant of acetic acid is
1.75 x 1073

72. U < U3 1 H 31 OH- | favTem =1 hgamd g 2
- 3T/ FSSHATEH

Splitting of water molecules into H™ and OH™ are called

Hydrolysis
73. $HTTRIfcH gu fha T BT g ?
TR

Phenolphthalein indicator is having which colour ?
Colourless

74. THUTES 3RS 3fghet 3 A i & diwg (pH) S AAH HH AT T CAT S ?
A

Methyl orange indicator gives which colour in solution of pH below 3 ?
Red
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75.  SIAIGHTA el g=eh R oo™ § e AT ear s ?
s

Bromophenol blue indicator gives which colour in alkaline solution ?
Purple

76. TR g@ W, fohet 14 o U TTU g™ 1 3T—AH TXH T4 31 THTATA BIdT =17 38 i A1
frme?
e ot FEm

“At constant pressure, the volume of a given mass of a gas varies directly as the absolute
temperature.” Which law is this ?

Charles’ law

77. afe aTauH Sgar 8, @ 59 i T
e g |

If temperature increases then the viscosity of liquid
decreases

78. STt ST FIYAT a1 BT R 7
How much is boiling point of water ?
100°C

79. A uerd w1 37w R ?
3 Hifeieh T[0T ST 3TeTT famel | STeTT— 3761 g ¢ |
Anisotropy substance means
Their physical properties are different in different directions.

80. TorEeel Ueh U foig 8 TTEE et Wil 715 ohis Wt 1@ fohed shl {8 il QI [GRIT3tl § §HE
S T e 8, FT HEAT @ ?
watafd 1 g

A crystal is a such a point that any line drawn through it intersects the surface of the crystal
at equal distances in both directions is called

Centre of symmetry

81. Tl fFeet § i i 3ohTS STeTh fogati bl Ot & ¢
¢FTcHh 3T SRUTIcHeh A=A

In ionic crystals which units occupy lattice points ?
Positive and negative ions

82. Tamferfiad o & o F =1 unfedes fopeai @ 7

Which one among the following is metallic crystals ?
Fe

83. HMHMIA: %ol oh fISiciiehtur o foTu ferd™ dTaeT 1 3w feran Sirar @ 7

Generally, how much temperature is used for dehydration of fruits ?
66-71°C
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84. TTSHT o WUSHUI < I SIS 31 THET <! fohd Tgrel GRT Tehl AT 2 7
0.09 T Shuwuw /feRn gEea

Browning problems during storage of marmalade prevented by which substance ?
0.09¢ KMS/kg of marmalade

85. hell 3TN |feerat sht urrerelt yyseh farftr & fohaht wrn o oot vy fopon S wehaT 8 7

How much amount of weight loss can be achieved by osmotic drying method of fruits and
vegetables ?

30-50%

86. T The UISEST T H fore U -ohfeh Usie 1 3u=imT fohan ST @ 7
TTTHICETH WiEhe

Which anti-caking agent is used in preparation of mango fruit powder ?
Tricalcium phosphate

87. T o W o U3 <h! fepatt ford uerel @ &gt 7
Teeigeare

The recovery of orange juice powder increased with which substance ?
Maltodextrin

88. wffeRaet Tt shY femaft TTe aret Ul 319] Bt 3= RyTfeeet UfFe e ST 2 2
Pectin molecule with how much amount of methoxyl content is called high methoxyl
pectin ?

> 7%

89. 3719 % Yo el oh GUELUN fsiefientor o foru feraet o & =i firems s 2 ¢

How much amount of sugar is added for osmotic dehydration of mango ripe fruit ?
60%

90. FARIThA o BEZSIATTH oh I TISAH HIUX FAR b a1 ITH HiH o foTu fobmr 377t o
I9anT fepar ST 8 7
Hifeam FEgaES

Which acid is used for the obtaining sodium copper chlorophyllin salt during hydrolysis of
chlorophyll ?

Sodium hydroxide

91. FAQ/WHO % 319 &§ o @ H feha1 wfesra (w/w) Hersiiel 38 Oeg 2 7
How much percent (w/w) soluble solid is present in apple juice according to
FAO/WHO?

10%

92. e WIgHeH TS h STTER HII S8 H HMY = <hl AT fehe1 Bt & 7
According to Food Products Order, mango juice contains how much amount of mango

puree ?
45%
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93, ohlT TR 3 RIS SHTH o QI SITS(T ol Uk 3R JTAT(SA GEHSIE! oh T il Ush h
foTe foper Tamer <1 3T fomer STt 8 7
1P| Ci b1 3 b R T | 52 [ ek
Which chemical is used to prevent browning and prevent growth of undesirable microbes
during banana beer and wine making ?
Potassium metabisulphite
94. Heli h T8 TEERU § TEHTRH R Teiaraeisiea 1un o fog staR T fora Aifires 1 3u=m
[ERIEICIE
T SEATHATSS
Which compound is generally used for antiseptic and antioxidative properties in fruit juice
processing ?
Sulphur dioxide
95. Wl oh T8 S fohH ATIHTH TX STHTRL HIfEd fehel STTaT & ?
At which temperature fruit juice is frozen and stored ?
-18°C
96. el H STh{deh &9 H SR (gelling) TSic shiH |TBIAT1 3 ?
Ufered
Which is the gelling agent that naturally occurs in fruits ?
Pectin
97.  3THEG T %1 AR o QR SO, 1 ke AT STefl STt 3 7
How much amount of SO, is added during preparation of guava squash ?
350 ppm
98. TYAT RIS IR hid T fehct TTAT H HTSIH UeTETSHEHISS Ueh Th o &Y H U ATl 8
?
How much amount of sodium metabisulphite is added as an ingredient during preparing of
papaya squash ?
2g
99, TieT H T e ek Hh hiH AT R 7
GEehTSHT/ Hgah
Which is the main pectin containing tissues in plants ?
Parenchyma
100. 3TTH o T 1 IS fohd T4} 1 W1 dh F@AT & 7

Upto which moisture content pineapple juice powder dries ?
6%
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66.

Wus-2 / Section-2
22 fawa wig /Trade Subject Code — 11
TANTIEAT HETeh (WTel Wrenfieht) / Laboratory Assistant (Food Technology)

Hal 3R Afeatt AT et 3171 @Ter Uert bl shell B Weft Hifd sig ek (AR et i 3R
S T qh HSRUT o foTT 3= T shieh SHATURfEd i 1 ufsha s % &Y H T A1
2l

Eatu
The process of sealing fruits and vegetables or any other foodstuffs hermetically (air-tight)

in containers and sterilizing them by heat for long storage is known as
Canning

67.

fired 4 i e sres g
HEEHA

Pungency factor present in Chilli is
Capsaicin

68.

TR <l 98 Wi Fcafren 3Tecila @re gerf & fmtor & foqu suam <6 St 21

T (L)
type of Base plates are used for manufacturing of highly acidic foods.
L

69.

e Y Jeft T ifera <t Tt 21|
ifeam ative

Guava jelly is preserved by .
Sodium benzoate

70.

3Te! TUTET ATt 37Te] % e S % T e Bt RClSIGIR
10 foift S @ s

For the preparation of good quality potato chips, potatoes are stored at
Above 10 degree centigrade

71.

e sheAU 1 e 71fd & T g ST &5 gl a1 ], T8 Hlempiad e ged
HiSTEATR |
¥ forg

The zone of slowest heating in a container is called as which is the most difficult
to sterilize.

Cold Point

72.

Teefientot = R g 319 Temies @ A= 3t 81 STt R <ifera STl 7€ 2 | s\ me
HE AR |
g e
During Freezing the commodity cools down below its freezing point but doesn’t freeze.

This phenomenon is called
Super cooling
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73. SRR WHITSHT § ShTIeH o &9 H SEHT 314 aTell Ted 3170 Uhsie 7
(A) 3R (B) 3
The most common refrigerant used as cryogen in cryogenic freezing is
(A) and (B) Both
74. TG U1 1 TR BT g |
3 [eft
Cooking of meat results in
All of these
75.  90% HEH ST hl TE A AT I TEAT 1 10 % HIH & HH B o [T TTIH THI hl
% €9 | M1 91T 2
& e
The time needed to destroy 90% of the micro-organisms or to reduce their number by a factor
of 10 is known as
D value
76. it <X srafy o, ot arfiertor g 1 3 & sfiax Tt i 7fd & 597 W@ 31k
TH & feRa ST Heh 21
Ugelt
In the falling rate period, the entire evaporating surface can no longer be
maintained and saturated by moisture movement within the solid.
First
77.  FSSAI % 38R, THTE & ™ H =[IaH BHT 1T |
As per FSSAI Tomato Juice shall have minimum
5% TSS
78. ST SE[-TRE AR T <h 7T Uk S Tk 2
Y Ui U e W uaned
Heat sterilization is a generally a suitable process for
Low-acid foods
79. T SRR § fehe aTeft ga @ 9ISt i 310 A & fotw TR & faarsres 1 39
feper SaT 21
g
A type of separator is used for separation of powder from air coming out of a spray
drier.
Cyclone
80. TfcTRad § & fohtent SR i< i T o SUTR o [o1C, fohaT SITaT & ?
fem atfermmss
Which of the following is used for the surface treatment of glass?
Tin Oxide
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81. aTSeh o 3TR ST o STMER T FEG3T < fafir=y vt # affeptor st & ETH
ST ST 2|
PR
The classification of commodities into various fractions depending on commercial value
and usage is known as

Grading

82. Tr=fcifgd © @ =19 91 3R 0 1 aTef wefie Wrer 9T} 1 HH 9 HE TH Hdl 8 ?
IR e

Which of the following size reduction machines causes minimum heating of the food

material?
Hammer mill

83. it fie & faga WHE i 2 |
qHTE

The ball mill works on the principle of .
Impact

84. T, @I T, TSl 3TN &) O o 3 IS B SR HaTrd fepan ST R |
Heee fuew

Purees, food pastes, pulp and other similar products are processed by
Colloid mills

85. AN o ol BrICH 81 HehdT 2 |
wETen foa

Cryogenic can be advantageous for
Spice milling

86. TiAfciRaa & fohueht ST 31T o Toled / e S o foTu fehan ST 8 7
TFere e SRR

Which of the following is used to make food grain flakes ?
Smooth roll crusher

87. ETHI ! JTEd det ohl HIEA (I[5h o o TR T) 2

The average oil content of mustard (on dry weight basis) is
35%

88. ST 1 TTE TTh{eh ®9 § WY o fohd W o 3TN hieh ITH oA STaT 8 7
et

Vanilla flavour is naturally obtained by curing which part of the plant?
Pod

89. TehiaH i ¥ Tg doIg1 bl Uehld o foTT RIS
3 al

Cooking of oil seeds before pressing is done to
All of these
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90.

qet Freemsor 1 TR W SEqATA fohdT ST aTet foetrrss 2
TR

The commonly used solvent in oil extraction is

hexane

91.

AR T e ired e o o1¢ def bl B & fofu EIRRER NGRS
e 3 ThE T

Generally the oil mills use for filtering oil after pressing.

Plate and frame press

92.

frferfiga o @ v @1 9 o ftsshr 1 = TEF R 7
TTH © g TE
Which of the following is not a step in refining of 0il?

None of these

93.

3TeId G&H 59 Frsehyur deheich % Tsshur & ot 3uzeh 21
Freqeiet det

Supercritical fluid extraction techniques are suitable for extraction of

Essential oils

94.

ESICEICIRELSES T ITANT hLeh fohdT ST 2 |
T SEATHATSS

Bleaching of Cardamom is carried out using

Sulphur Dioxide

9s.

T ITANT HeAl oh T oh TISIRT0T Tl o €9 | foran Sirar 2|
Rrates

is used as a clarifying agent of fruit juice.
Gelatin

96.

e T | T8l Toh TR Fohst 9 316X CO, AT N, SIEft 16 o |1 FeAst AT 1
MR R |

TYNTer TaraRoT GeRf (Taudt)
Flushing the inside of a permeable package with a gas such as CO, or N, before sealing is
the basis of

Modified Atmosphere Packaging (MAP)
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97. fr=ferfiga § & i o1 omiee wnfees 8 7
TAfdehet e

Which of the following is a thermoset plastic?

Electrical switch

98. fr=feriaa o & % @1 1 gohel & fes & fmio @ waf T 27
TR TS

Which of the following is not related to the making of a two pieces can?

Impact extrusion

99. A gETE H @I WSRO i e I 2 |
HERIEEACAS U
Storage of food under reduced pressure is called

Hypobaric Packaging

100. HiEElfces R 8 = 4 o4 8ld 8:
fereria
Photovoltaic solar cells are made of :

Silicon
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Wus-2 / Section-2
22 fawa ®ig /Trade Subject Code — 12
TIRTIEA HERIeh (YeAsita fa) / Laboratory Assistant (Microbiology)
66. = <l et STfERET FRTR 7
T &l Gersiial ot e dra | R & srem feen st e |

What is Koch’s 4" postulate ?
The same micro-organisms must be isolated again from the diseased host.

67. TagTa UTe=R g S T T |

wmy

theory was created by Pasteur.

Germ
68. FIUMTREMaATAR 7
3 meft
Tuberculosis disease is caused by which organism ?
All of these
69. TEATEE (SIV) HT AT IHE |

fatiem smeiRiE: aw
SIV is the abbreviation of .
Simian Immunodeficiency Virus

70. T=fcTiad ® & S 91 Sfid 8 S 319 3ot TehreT & 3TR e JTehTsil-eh HId § ITH a1 8 7
Which of the following is an organism that obtains its energy from light and its carbon

from an inorganic source ?
Photoautotroph

71. GEASd gl
I (THRITIR) SR (Sg-RITRI)

Micro-organisms are
Both (Unicellular) and (Multl cellular)

72. TATSShIITEAE o STSRIT =T (payoff) H T&eTl SheH T 7 ?
frerniesggs 3-wiche @ 1, 3-awiEnierEie 1 e
What is the first step in the payoff phase of glycolysis ?.
Oxidation of glyceraldehyde 3-phosphate to 1, 3-bisphosphoglycerate

73. foaef o ShetfUer & digi o1 ek o foTT T AT S I & |
Sftrea gfifefRm
A common biopesticide for preventing plants from butterfly caterpillars is
Bacillus thuringiensis

74. ToTd gAferd STIEH ST Uar e |
AR — A ganati it &
Find the incorrectly matched pair.
Nostoc - Drug addiction
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75. HEihGhIE o fohted § 37 3= d19qH o fereh™d &1 Ush Heha1 B |
IR

An excessively high temperature in the fermentation of sauerkraut may inhibit the growth
of
Leuconostoc

76. B B 3R fepfoed fepan ST 2 |
AT (CIRIFRE I HE=AEEH) 3R (AeE e wietm)

Green olives are fermented by
Both (Leuconostoc mesenteroides) and (Lactobacillus plantarum)

77. AEH JehR <61 TehUeH <@ ST 2 |
Ueehigicll fehuaa
type of fermentation is observed in yeasts.
Alcoholic fermentation

78. @HI g ST TarEH % URUTHETEy 1 IeATC BT 2 |
3 [eft
Anaerobic respiration by yeast results in the production of
All of these
79. TfcTRad W & s 91 fohftad WisH 1 81 8 ?
forms
Which of the following is not the property of the fermented food ?.
Toxic

80. T forg fovm & gefa g 7
B IS e G

To which division does mushroom belong ?

Basidiomycetes
81. HYEH gRI IcdTfed SaIefeh Tiarg TR 1 fau & |
EICEINED
Ibotenic acid produced by the mushroom is type of poison.
Insecticidal
82. 3A1S / HdTe] (peach) H 1 5 -4 SN heTs o S1G TS hl HH T ¢ |
HicHaH FANE
Pre-harvest application of in peaches reduces post harvest rots.
Calcium chloride
83. fortul weti 3T Afesll § Torst St 37 Hers 3T HSHUT o &G UTSehi bl T8 Hid |
qem g |
e feRRot

rays are capable of penetrating fruits and vegetables and destroying pathogens
after harvesting and storage.
Gamma rays
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84. g %ol § heTs o ¢ o &1 o1 =0T & a1 fepam T A |
(Hifeem 2grane) iR (Hifeaw wEe) gHt

Control of post-harvest decays in citrus fruits was carried out with
(Sodium tetraborate) and (Sodium carbonate) Both

85. TS BTHI o TSN A Bl shi caran shl Shiofar & b & gk o1 ufafform e wn
BISM@IR |
Rrenferes ufre

Application of plant hormone reduces Penicillium decay of oranges by delaying
the senescence of the skin of the fruits.

Gibberellic acid

86. U fafy w1 veeH wgell a) g fopar TR o |
@ie foreet
The antiseptic method was first demonstrated by
Lord Lister

87. WihieNfeeh St st g fersiwan 2l
TRHTY] SATERT i ATl

The main feature of prokaryotic organism is
Absence of nuclear envelope

88. HCITR IR (HRTETSCH) Tg! I ERCIEIRIEN
Cellular immunity (phagocytes) as first time discovered by
Elie Metchnikoff

89. Tr=fcrfiga # & form SFTieh A SATET-T 2S < WL | BT ol U 3hich d:TRd UGl o
fergTa 1 TTeta dTferd e 61 HIfvmr 6 7

fI3tER vam

Which of the following scientists, tried to disprove the spontaneous generation theory by
passing air through red-hot tube ?

Theodor Schwann

90. UYHH M e It S o Teu qe@ uge | gr Eiiuq feRam T e |
e
The relationship between anthrax and Bacillus anthracis was first established by
Robert Koch

91. HeAsia ST ATELTSTH ol A58 H SATerefieha fehall ST 2 |
Nitrites are oxidized to nitrates by a micro-organism
Nitrobacter
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92.

AATTSATSEE SRE b HoR0l o1 TAfHeh e & |
WIS 3R art

The primary mode of transmission of poliomyelitis virus is
Food and water

93.

Fr=ferftga O @ 9 91 ETS 1 U8l shivoied (shirciad [) 8 7
Tugita (NADH) fegsgeine

Which of the following is the first complex (Complex I) of ETS ?
NADH dehydrogenase

94.

I (TCA) =1k H g alTefl febl SfdfshaTd sotergiHi <hl HHEE H Ueh Setdgi SellshR hid allet TaTgH
H TN A 8 7

How many reactions that occur in the TCA cycle transfer electrons from a substrate to an
electron accepting enzyme ?

4

9s.

TE[hIS % Tk 1] o foTq TEiT (TCA) =oh fehe s 31T g B 2

For each molecule of glucose, how many times does the TCA cycle proceed ?
2

96.

Tole T BISSISH U8 T & |
Qq@ (NAD)

accepts hydrogen from malate.
NAD

97.

SR d srehlEa i sfagaen . afmEdi R

Final alcohol content in beer varies from
4-6%

98.

EIEC| T AT BT 2 |

U
Vodka is distilled from

Potatoes

99.

STt (BCG) Jaia b1 QA = 8 7
SfeTE heHe -TuRA

What is the full name of the BCG vaccine ?
Bacillus Calmette—Guérin

100.

TS /hIEg Ut & S freferfigd 8 8 oo ) 9 gt A # ST gl 8 7
Hdm

Which of the following gases are produced in large amounts during sludge digestion ?
Methane
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66.

Wus-2 / Section-2
22 faw= #ig /Trade Subject Code — 13
FHHIRRE (FRATR J9TEA UF GUR AT a2t Higer searot fawm) /
Pharmacist (Jail Administration and Reforms Services and Women Welfare Dept.)
fertsten <ot o1 TETIf T |
Chemical formula of bleaching powder.
CaOcCl,

67.

I1eRA fafie e (=i wimn udietor) o wrgfoss wfire =1 3wt fohan i 2
TS o SHRUT T oh ek h 1T

The citric acid is used in iron limit test :
To prevent the colour due to copper

68.

T A& (styptic) o T fereent T fepan ST & 7
frenlt

Which is used for local styptic ?
Alum

69.

frefafaa 9 @ @ @t therfafes gan gerife e a=12 7
frearmmTES

Which of the following antidiabetic drug is Sulfonyl urea derivative ?
Glibenclamide

70.

I TShRTE TgHTATS | el P grar a ?
S T8 W 4-OH T 1 AHE

How does phenylephrine differs from adrenaline ?
Lacking 4-OH group on the benzene ring.

71.

freferfiea § @ =9 &t thfeefufae gan v TgemsT sge= 8 7
FAREATHTEA

Which of the following antihistaminic drug is a propylamine derivative ?
Chlorpheniramine

72.

=1 % 9 S o1 TS W T “O” 9Tt Afth § RBC WHING 8 7

IS T
Which of the following antigens are present on the RBC in the person having blood group
0?

None

73.

% 3, e 3 1y SoeH 7 1 fee g |
ULl

The following organs are part of male reproductive system except;
Ureter
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74, Tafafga i o fra sua dBmT R TR N s TI A IS R ?
HUTA dfreht VII

Which of the following cranial nerve is known as facial nerve ?
Cranial nerve VII

75. U I g e TieaT < SaTd ST R |
&S IV
‘Post Marketing Trials’ comes under clinical trial
Phase IV

76. freaforfaa g smme U | T=fRE |
SIS SR

The following schedule is dealing with incurable diseases :
Schedule J

77.  IHERAT C, € (1) 3R X 7 e gansti = sretman 3= gansi i fshi an foao & fore fmfo
% feru T8 weM w0 % forg staw 2
wiH 25
Grant of licence to manufacture for sale or for distribution of drugs other than those
specified in Schedules C, C(1) and X requires

Form 25

78. Torfirg Tt < ST o RO BRI GuHt <6 37et wefeeht b fmir o €Y H AT ST
gl
RIS

The formation of plaque inside the coronary artery due to deposition of the lipid content is
known as

Atherosclerosis

79. T=feRaa o @ S @1 whefor 3w (parenteral)mﬁﬁﬁﬁmlﬁmaﬁﬁmﬁw
Hhd a & ?
EIEUSER N

Which of the following test suggests the presence of live or dead microbes in the parenteral
product?
Pyrogen test

80. 100 foret erman aret srerdret # freforfaa sfivemer & @l g ¥ smawres 8 7

The following dispensary area in square feet is required in the 100 beds capacity hospital ?
350

81. Tr=fariaa fasmoe i v fomiwan 2
TTgehi o T hIg HHem Huh T2 2 |

The following is a feature of advertisement :
There is no direct contact with the customers.
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82.

fersht o foig T SR TR 31T 1 AT=IaT &t STt 21 39 7t § 1 H STaumon arg aidt 2 2
DRI

The revenue is generally recognized at the point of sale. Which concept is applied in this
case?

Revenue realization

83.

TS Weh ST HTSH o A § hH 51 % I TLHRT o 11 H &Id 7, al 39.. FHal Il 2
RN L

When at least 51% shares of a business organization are in the hands of governments, it is

called

Government company

84.

Freferfaa o & st | et Tl o §9 4 SEATe fohaT ST EhdT 2 ¢
el

Which of the following can used as anti-dysenteric ?
Catechu

8s.

1 o Tl Aferes T 6l Ug== = |
HANE A=

Identify the correct biological source of Vinca.
Catharanthus roseus

86.

2 ¥ g w9 9 fe Tamaties gesh T S R
ToieTeh TS

The following chemical constituent is principally present in Asafoetida ?
Ferulic acid

87.

freaferfiaa o @ fora stfirrter o1 3uaI STETsIF gdieror 3§ fopem ST 2 2
LZECHECEE]

Which of the following reagent is used in the Osazone test ?
Phenylhydrazine

88.

Feht Ich ST TS o ISTET0T ol IgaH |
fadm

Identify the example of sulfur containing amino acid.
Cysteine

89.

fr=ferfaa @ i o1 faerfim wher isean 4 swmfi 2 2
e K

Which of the following vitamin is useful in the clotting process ?
Vitamin K

90.

5 FEe & &Y T g7 fera ST |
o0}

Zinc chloride is used as
Astringent
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91.

T FATSH o THHTOT | Tooh-T3 (ST Teeh o ®9 H A=feiRgd # 4 forgert Sqam feran s e ¢
Hel

Which of the following is used as Vulcanizing agent in the manufacture of rubber closure ?
Sulphur

92.

freferfad & & %M @ freies gems T2 2 7
ERI

Which of the following is not a filter aid ?
Cotton

93.

QT hagd | FH 6l 7T el B
Empty capsule has a moisture content in the range of
14%-15%

94.

I Bigwt, Efaiad TMRfed 9 6 ®9 % |
STFER (319)

The following are sterile dosage forms except;
Elixirs

9s.

T TRl STTHAR T IR o foTT Bt 2 |
g [t

A suppository is generally intended for use in
All of these

96.

Trferam (sfufufdsam) & safwrem (37a:few) Tme e it 3
AR <R A 3R AN

The part of the prescription called inscription contains
Name and quantity of ingredients

97.

freaferitaa o @ fore ean o1 i gdffe Gshmor § feran Sra 2 2
IMSTRGREA

Which of the following drug is used in Herpes infection ?
Idoxuridine

98.

Fr=torRaa g ueh gifimfss wnite 2
ISR

The following drug is a dopaminergic agonist :
Bromocriptine

99.

IS 99 UL T T 3¢ T |
LSS

Choose the correct example of proton pump inhibitor.
Pantoprazole

100.

frfearftad ear HMG-Co-A TSTsH 37190 g 1 L &l 2
Jgarefe

The following drug is acting by inhibition HMG-Co-A enzyme :
Rosuvastatin
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Qus-2 / Section-2
2e fawa @i /Trade Subject Code — 14
ShI%E U917 / Craft Instructor

66. ST 0T <h! el TTshT i TgaH

feamsiom, AEdm (vEem), 2o W Rewmd (i), fifen

Identify the correct process of Block printing :
Desizing, Mordanting, Stretching on tables, Printing

67.

&1 3R HRMGThR o HEl SIS hl T&=H e :
() ToFrl : d@Ts
(II) 3hiche XA : it
(1) <=1 et : femmeet wew
(IV) T : T
i wE e |
Identify the correct pair of Regions and embroideries,
() Chikankari : Lucknow
(IT)  Crochet lace : Kerela
(IIl) Chamba Embroidery : Himachal Pradesh

(IV) Kasuti : Karnataka
All are correct.

68.

“am fiie” & Wimiferes feufa (Sfiams) (GI) 1 ve= i
AL T

Identify the Geographic Indication (GI) Location of ‘Bagh Prints’
Madhya Pradesh

69.

atfirReA (A) : gl T Weg ® 91 forgw it Rreusr afeemd wfa swue w e gem areft
ToreTTE ats o fotu Sy et 8, ford it -peft == fieis o @19 SUW (Ascent) fean s 2 |
RO (R) : @N1fiie 3 grifrdier s fori st ot fergrdt gomfa=n o arer-wmer sefirf Fui
S fob got 3R T Sftem o fafa femmn 2

(A) &R (R) T w1 £ |
Assertion (A) : ‘Sujuni’ is a term craftswomen of Bihar use for straight running stitch
embroidery on layered cotton, sometimes accented with chain stitch.

Reason (R) : Religious and secular narrative themes are illustrated in old Bihari sujunis as
well as geometric patterns; flowers and local life.

Both (A) and (R) are correct.
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70. TR ST I TEA R -
(I) o[, seTeh HEUT o1 Teh TRUTE ¥1ed, fogr o qgu o faesfa gam |

(1) TR foER < oot et 6t amior afgensti 3 Hers S 3 ol Tl i 30 9gH
TR @R |

(II) § 37 g TSTYd HigeTail ohi ¥ TETa1 Sial & Sl el | it W@ 7, <ifer wmmrtoes fa-
TCaTSii o ST 3= M H & UehT AT 7 | I 37 e 1 3718 HLd U 891 AT &
o 376 TUTe g0 ‘TS HIET ST R |

HAA N IMIT TR T |

Identify the correct statements,

() Sujuni, a traditional craft of block printing, developed at Bhusura, in Bihar.

(I)  The rural women of Muzaffarpur district of north Bihar continue to embroider and
take forward the Sujuni tradition.

(ITI) This also assists many Rajput women who are living in poverty, but are prevented by
social custom from working. They now earn money while practicing a craft that is
deemed ‘respectable’ by their society.

Only II and III are correct.

71. TS f31e9 GUEerd 3R SEdshell SThIcH! hal frd g 7
3 faeett

Where is the National Crafts Museum & Hastkala Academy located ?
New Delhi

72. AYFA TEIH SaTIHE ST (NHDP) @ Y9@ Ucehi § 8 Tsh, HEdt (CDP) 7, HiEidt (CDP)
HTFTALR ?
TR STATHE TUH
One of major components of the National Handloom Development Programme (NHDP), is
the CDP, what does CDP stands for ?

Cluster Development Programme

73. AR (A) : Bfig Taehelt YR H ged g fredt § ¥ U 7 | 9l % s R J
fafeam st & grefieia FoskTeT % U TH 1 0@ ¢ |
HROT (R) : ferfesm siees Tsa & foo B, 31 sHent urifies et arefifes gro vmmor & fafga 2 |
(A) WE 2, SR (R) 37ifvTeh &4 8 7Tea ¢ |
Assertion (A) : Ivory Carving is one of the oldest crafts in India. An inscription at Sanchi
refers to a guild of ivory carvers in the city of Vidisa.

Reason (R) : Vidisa is located in the state of Karnataka, and its earliest reference is
contained in Ramayana by Valmiki.

(A) is correct but (R) is partially incorrect.
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74, “OE v H 3 B,

Teh Teh <hl ST
The term ‘Mojdi’ refer to,
A type of Shoe

75. ‘U I SWE, AYHM TfUeN softeh GEuI Uk b G 1% foha ST § |
fesom TEm™

‘Mendh ki chappai’, a beeswax resist block printing process, is practiced by
The Chippa community

76. “Tuent femenry sAT 9T} ST shl T8 st
J |t

Identify the tribes which create ‘Pithora paintings’
All of these

77. Toen =1 G%pa @ Siied o & § HRRG THE TR HHSARE’ (CCRT) 1 0 €9 7
‘CCRT’, one of the premier institutions working in the field of linking education with
culture, Stands for

Centre for Cultural Resources and Training

78. WE TS 6l UEAH B
I IfEe ©hidt 3y wew
IEEEQL
I TS ehrgd : ufeay smTet 1
ST et
L g e @ Toed
IV. Femsil e @ fagr

e I 11 3R T8 2 |

Identify the correct pair :
I. Cherial Scroll : Andhra Pradesh

Painting
II. Ganjifa Cards : Bankura district
of West Bengal
III. Sanganer : Rajasthan
Prints
IV. Kalamkari : Bihar
Prints

Only I, II and III are correct.
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79.

“2 3feT hICHEN” TEdeh o @ B & ?
S . HHTEETL
Who is the author of the book “The Indian Craftsman” ?

Ananda K. Coomaraswamy

80.

HE Y Hl TETH W

(I) BT (F5om) & 9id # wed o<t sranfsd sl nfafafl § & we § | 78 uvhw
SR 3ref-areior ST SrTSiiferent ot Uk M AT R |

(I) W o Tt gehtl / FTeTshRl <! Berenta /gEafiTed 3cdTe HY UTeehi bl S | Herd s
o ToTu <1 & Y@ w1 X 318l 812 TA1Ua S < AT 2003 T 3 i TS of |

(1) §h1 1 ZUHTHT &1 T Ichdl fe@M 3R I% WeHTled i o foTe FATE | Td el
T, TS 1 TH R, Bt 3 fomum # feamea s, T st somor o
S TR feU I 2 |
et [ 3R 1 & 2 |

Identify the correct Statement.

() The Handloom Sector is one of the largest unorganized economic activities in India. It
is an integral part of both rural and semi-rural livelihoods.

(I) The scheme for setting up of urban haats at prime locations in the country was
introduced in 2003 to enable the participating weavers/craft persons to sell
handlooms/handicrafts products directly to the customers.

(IIT) Awards like the Sant Kabir Award in weaving, National Award in weaving, Design
development in Handlooms and Marketing, National Merit Certificates are given to
weavers for showing excellence in the handloom sector and encouraging them.

Only I and III are correct

81.

TR aTfieh FEolshe STaTER fred oet forg s § Srifra fepn ST @ 2
ghamn

The acclaimed annual Surajkund International Crafts Mela is held in which state ?

Haryana

82.

g, WA H Tod g1 ATTCaTE Tger 2 “Tig” veg i 1 374 § 7
W WIS

The Gonds, are the largest adivasi community in India. What does the word “Gond”
signify ?

Green mountains
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83.

SepTTeEd! hetHehRl §, TETET o foTt qRdies Tame™ N8 wifem’ et Sar 8, 98 foee amfl
YEATRAIS 7

(1) T8
(2) T H S A AR
(3) STeEaTer
(4) TSHTS
1,2,4

In Srikalahasti Kalamkari, the traditional solution for line drawings called as ‘kasim’ is
made of what material ?

(1) Jaggery
(2) Rusted Iron in water
(3) Binder
(4) Palm Jaggery
1,2,4

84.

Tecttag § fififa swement fore afeatft wwpfa 1 wwre ot 8 2
HREL

Kalamkari produced at Masulipatnam shows influence of which western culture ?

Persian

8s.

Temrepl o Hey 1 Tt Sl < uga e
e et egm

Identify the correct pair in the context of Painting :

Pichhvai Paintings: Nathadwara

86.

ATTRUR (A) : ITHIHT & F1E TR T ST bl TT14h Hehgll & | HRA § 573 ST 8
3 amfeare Tuer gar et 1 o § Sfawd & |

THROT (R) : TU, ITeft, GUTe 3 S0 ST =i o 3Sevl 8, Jefeh fUsears, [T -
UBE!, TeiT 3 He e A B |

(A) 3R (R) 3T T € |

Assertion (A) : India has the largest concentration of tribes after Africa. There are 573
tribes in India and tribal communities comprise about 8 percent of our population.

Reason (R) : Pithora, Warli, Santhal and Saura are examples of tribal paintings whereas
Pichhvai, Mata ni pachedi, Patachitra and Phad are folk paintings.

Both (A) and (R) are correct.
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87.

atfireRem (A) : 3MufrafiTes 1el & Tgel et 3R ey r6g wRa § vt & | f3req aggr i
THTS o Teh HUTTh 3R AEwY0l 3T o &9 H Tg=H1 T, 78 T Sia &1 foshm 31k gig R
oA |
FHROT (R) : ATk 31T, Tred 3R freq e o wid gt o1 W= yid # fRred i wifa o
1T Sl 1ol T8ell JaY @ |

(A) 3R (R) S 7R E |

Assertion (A) : The term for art and craft were synonymous in India before the colonial
period. The crafts community was recognized as a crucial and important part of society on
whom the development and enhancement of life depended.
Reason (R) : But today, the attitude of society towards crafts and the crafts community is
the first stumbling block hindering the progress of crafts in India.

Both (A) and (R) are correct.

88.

Freferfaa w1 faed -

1. 7w () 8 U frew & e o
% ®1 H HIS & BN
IHEl BT ITFN HT B |
39 fren g i aeget
T 3T TAT-HERISTSAT
I R 3R =icen %
Y T foRa ST o |

2. wish (i) 35 faeepr 1 damt <3rat
% Teh g% 98t § & I&
I ST 8 | Gell o ST
fore fardh, T =1 R,
SR 8 1 3T fepan
ST R |

3. fyuch (i) T 5-7 oft =9 AW
TeATeh T A, Tl 3MhR
FATH TS |

4. ar (iv) 78 g  ddaen #
ETIE] ISR o1 | FE T
(A ah) WY I 3N FeH |

?W@WW
|

1-iii 2-ii 3-i 4-iv
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Match the following :

1. Ganjifa (i)

2. Sanjhi (i)

3. Pipili (i)
Applique

4. Thewa (iv)

It is a craft which utilizes
waste pieces of cloth as its
raw material. Articles
produced by this craft were
used by kings and
emperors as shamiana and
chandowa.

Preparations for these
paintings begin a week
before Dussehra. Clay,
cow dung, terracotta, lime,
turmeric, colour and
clothes for dressing the
Goddess are used.

These are  handmade,
round-shaped playing
cards with 5-7 cm diameter
dimension.

This was an invention of

Art Nathuni Sonewalla. It is an

Work intelligent application of
art over utility and fusion
with jewelry.

1-iii 2-ii 3-i 4-iv

89,  Frerferfa foredi 1 3 S ) AT 3 A i i

1. Shrefrare gfén
2. HigMee Raet
3. e HgH
4. SHeTdhirl
1-i 2-ii  3-iv

i fict =1 &1 g3 TS
ii.  “TATqIhI” hl Ahel
iii. STepfersh T
1v. € skl Il

4-iii

Match the following Crafts with their appropriate raw material :

1. Kalighat Painting
2. Kondapalli toys
3. Chettinad Kottan
4. Kalamkari

1 2-ii 3-iv

i.  Mill-made paper
ii.  Wood of*“Tella Poniki”
iii. Natural colours

iv. Palm leaf

4-iii
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90.

aAftrRem (A) : Reusrl & Afee 3T 3 xifretn o fou fesme 3t 3cie farm w3t
Fge B | TTHioT FRTeushl ST 3Tt o THehTeii el SUNIRAT <hl WTST & SR 3TN SfSIfeqd st <l STrerwarehd
7l
THROT (R) : THBTAH ITHRGT ST GTfHeh fors 3 Teiehi o Ui aesiiar o1 Sfasad] 781 gid & S
AR R IR ey fesrga # ga= g 8 |

(A) 3R (R) 3 T E |

Assertion (A) : Design and product development are an essential input for the survival and
economic empowerment of craftspeople. Rural craftspeople need to be exposed and trained in the
language of today’s contemporary urban consumer.

Reason (R) : The contemporary consumer is not often either sensitive or responsive to religious
themes and symbols that usually dominate traditional craft design.

Both (A) and (R) are correct.

91.

T R1ed =61 9gmET 2 o fou s<dtare gwaiey faewm 91 g fefafiga # 9 fore grea i
TYAT Y TS oY ?

Torewm Samm TREuTgR

Which of the following organization was set up by the Chattisgarh Handicrafts Development Board, to
boost the local crafts ?

Shilpgram Sevagram Narayanpur

92.

Y wfeat form T o A 2 7
Ty

Paithani saris are woven in which state ?
Maharashtra

93.

TorefRT Ufe o Tew H HEl oM <hl TEEH B :

fueit @ wafer srgeH A, Afgenel i SAf T8 2, Fae T9%h, 3R a8 W wadt gEy, |
TEEh ¢ oiR foantea &, Wit ot |ehd £ |
Identify the correct statement in the context of Pithora paintings,

In Pithora related rituals Women are not allowed, Only adults, and that too only men,
who are adults and married can participate.

94.

AR (A) : TS o THE T Ueh he Tt hl fIwTTet 31ge Torhiehl 3 &1 <hl geer <t Fereprsft <hl foea
1 Teh TFCR ICTET 8, 30 ATSeh B! i ohi Tered it 3T SIehT < H S S Feiehell Sl 2 |

THRUT (R) : ST TETES! ToRhIRTT bl AT €9 B BI5eTse foh TR 1 ST TTfereiieran 3T Siferss foran <6 @
yuiferdt foram TR o | 3 o anft i TG A IR E |

(A) 3R (R) T & 2 |

Assertion (A) : Giant Monolithic carving of the rock cut temple at Masrur in Kangra is a
magnificent example of the stone carving heritage of this region, it is meticulous in its attention to
detail and delicate chiseling.

Reason (R) : Early Pahari carvings were highlight of stylized and imbued with mobility and

organic action. These images are still being carved in Kangra.

Both (A) and (R) are correct.
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95. e 37 37T IR ford ¥ I I 7T ot 7
2014

In which year was the Make in India initiative launched ?

2014
96. T 2IST TS fohd &7 H TSI B 7

The ancient Toda embroidery belongs to which region ?

Tamil Nadu
97. T | T e ferges fmior & fow wfrg 7 2
firdt 3 =
Village of Longpi in Manipur is famous for the creation of
Pottery
98. Tl HUAI hl TETH e,
I o7 fRred 7wl 3t afgettsti gl R foRa STt B TR TSI, 318, 3T Tew 37 et S TSt
o g TN o ToTT SATSffereht T Teh URUTEh 3T SSITd & # |
I YN o IO Qe & & arF 37 §d & e §91 31 qRufe TH6 % T 98 Y8R &1 gfaffrea
HAE |

11 %/ 1 gfafsean o &9 5 %3 Jreiet & &9 faenfia gu §, e o for s 6 geft-gm
AT} BT T TATS ARl of A hY STATT < b ToTu FT=hieT S=mn m g, Fafeh Jerer i
FAS -G IR T ITAN TREEH 3R WSROI 3 7T fehall ST 3 |
TRNFATAE |

Identify the correct Statements,

L. Bamboo craft is practiced both by men and women and is a traditional and hereditary source

of livelihood for several people in the states like Gujarat, Assam, Uttar Pradesh and Kerala.

II.  The bamboo and cane crafts of the North Eastern region of India represent a large storehouse

of forms and traditional wisdom.

III. The forms of several baskets have evolved as a response to function, for example the open-
weave baskets of Mizoram are made flexible to allow carrying of firewood, while the close-
weave baskets of Meghalaya are used to transport and store.

All statements are correct.
99. ‘FTfesh Fameh Y’ i W&l sk i Tgam -

FHUS I TS, W 8 o0 HET, STE a1 H A1, T U= H T

Identify the correct process of ‘Batik Printing’ :

Cleaning of the fabric, Coating with the wax, Immersion in Dye bath, Dipping in

hot water.

100. EUHTT (TSTH) I I Teh A&k Ta=H JGH hid oh 7T I8 AISHT a9 2006 H & hl T
off | ST 6 UEaH R |

TSoTH ATk AT

This scheme was launched in the year 2006 to provide a collective identity to the
handloom products. Identify the scheme.

Handloom Mark scheme
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@us-2 / Section—2
22 fawa #ig /Trade Subject Code — 15

T4 /&HPT3E /319184 / Nurse/Compounder/H.Warden

66. DEEE & HR § FEfIRad T A 19 A1 BT 3Ty AT 18T ?

From the following which furniture should be provided in the hostel room?
Book rack, cupboard, cloth rack

67. SETEH % HALH 2-6 BT b fIC b I=TeT ITTed SHUT T TMET 7
How many toilets should be provided for 2 — 6 students in the hostel room ?
1

68. SETEH & HFRR 4 ffeifad § & s = gigen JeH s S =g 7
1o 3R a9 afem
From following which facility should be provided in bathrooms of the hostel?
Geysers and wash basins

69. THETEE H BT o HARSH o TTC i Tt Flgemd Iuetsy gt =mfze ?
(A) 3R (B) 3

Which facilities should be available for students for recreation in the hostel?
Both (A) and (B)

70. PERT 3Tsc b1 o1 374 2 7

T FHeIUH Ug g 2ohish
What does the term PERT stands for?
Program Evaluation and Review Technique

71. freforad & @ weh 78 yeeeh shi o fieh 2 7
LRI

From the following, what is the role of a Nurse Manager ?
Communication

72. Tr=fafad 9 @ qfi 1 @il form e o stwaia i 2 7
Uit & et

From the following, purchase of the land comes under which budget?
Capital Expenditure Budget

73.  qcd <6t ferm Sicft & T a1 ot Ferfor 3 fofa oF & srom srefiaeit <1 smfirer et €7
[SIEIIEED

In which style of leadership the nurse leaders include their subordinates in goal setting and
decision making ?
Democratic

74. INC UMESl o STTER TIE T Ug o T STaehTs1 TR STUT T BT <TieT ?

According to INC norms, what should be the leave reserve ratio for the head nurse post?
30%
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75. Tr=ferfaa & @ freror 6t @ QU 3R T8 AT &9 A 3T 61 9 areft fafy s e 2 e
ETH

From the following, which is the oldest and most widely used method of teaching?
Lecture

76. fdfsran a1 sHagr # ufted & foru forg wree o1 waim fran STaT 2 7
HAferm

What is the term used for the change in response or behaviour?
learning

77. A1 IS I TR T GHT AR ?

What should be the size of the flesh cards?
25*30 cm

78. Tr=ferfiad & @ gva-y= amft % wom & fu s A Args 2 7
forwa e
From the following which is the criteria for selection of audio visual aids?
subject relatedness

79.  TATSh % I Teha fohU T BT ST TR <ht 3o Toeea o IR H 90N 8, 98 1 Shaalrd! & 7
HhUh

The data collected during assessment, which is the perceptions of the patients about their
health is called as

subjective

80. §¢ TU IR o A9 T 3Teher, Fa erafefiet grI A19T SITaT 7, Th Thr 61 2l
R

Assessment of the elevated body temperature, which is measured by a thermometer, is a
type of

objective data

81. THIGINUTTHI A B U UH IR AN IR A o & 3tferes 7€ g =nfeu |

For giving retained enema, the quantity given at a time should not be more than
100-150 ml

82. g e W o Teufer # g & eifer 3o wriT <61 Tfea gt & et @ &9 & gensie
IS[G BId €, T ATl & 7

<o givd aE

The wound which is in aseptic condition but involves body cavity where normally micro-
organisms are present is known as

clean contaminated wound
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83. Ueh SATh b U< H UTE Bl T@T & 3TN 3Teh! 37 STel (Hehdl &I &, IH SAT<h oh TTUTH IU=RH
FYH 319 1 S@ITA T ?
3Tl <t T T <Y I |
A person is having the stomach wound with the intestines coming out, what will be your
care as first aider to the person?
try putting back intestines in the stomach
84. forert o wresifoE 3T TSGR TS I T el ST 8 ?
fertem
The fibrosis and nodular formation in the liver are called as
cirrhosis
85. BcF h! o1 <hl 3T AU ST &S A gRT UTh U W &1 bl Sl 8, Tehsres gry s <Y
Sl & 7
The impulse waves of heart’s rhythm which is recorded by the ECG machine on graph
paper, is designated by the
P,QRS, T
86. HHS % FIHH TIM U 59 I foheeh 9 H T J1 8 ?
TELH T8
The fluid collection in the pleural space of the lung is known as
pleural effusion
87. WA HISHEA R |
TS Ut
The trachea is composed of
hyaline cartilages
88. T oh! TEhaTcHe SohTS hgelidl &
A
The functional units of the kidney are known as
nephron
89. MG freim w7 ?
A 1 SeaTEA SR ||
From the following, which is a function of the kidneys ?
production and secretion of renin
90. Ha YR # fererfim K el diydid grar 2 7
apd

Where is Vitamin K stored in the human body ?
liver
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91. YR T urft &1 frame fopesh e g e w0 9 Jergan 87
aifezm

The regulation of water in the body is closely linked to the regulation of
Sodium

92. fafsts TN = i Yic S <) A &THdT ol T hal AT 8 ?
FUTTErAT

A reduced ability to distinguish between different colours is called as
colour blindness

93. TP ferarftr wifthcifertel shieish sh FTTETL, foet el ol foreifert A 5B 1 Siw1 & o 2, fore it
W 7 T el 2 7
e wewg |
According to National Vitamin Aprophylaxis Program, which children are to be given 1 dose of

Vitamin A if they have not received it in the previous month ?
having measles

94, ITTIATAT & TSl H b e /TN 7 |
The acceptable noise level in the hospital wards is
20-35dB

95, o STTEYTE % IR < TR-SR JT AR b o TROTHRGEY G- 31 TR g 8l HJehdt 2 |

The permanent hearing loss may occur as a result of repeated or continuous exposure to
noise around
100 dB

96. I TT @ T [ThR AR T ASeh ohl G- H TSI § 3Tfereh <@ ST & ?
AR Tt

Which eating disorder is commonly seen in the adolescent girls more than boys?
anorexia nervosa

97. fgydh fopi & goma & foqu v ferfa womfiehRes g 1 fashea R AT R 7
feaform

Which is the choice of mood stabilizer drug for treating the bipolar disorders ?
Lithium

98. i @1 dieh1 THT & Yfd T8 A GaleAsiic 2 ?
229 TTHTSS
Which vaccine is the least sensitive to heat?
Tetanus toxoid

99,  IrfqEdesiicl USia (B1<) ol GshAUT o G=10T  forgeh gry Gfard foman ST aesar 22
ZIHTRTuT

The susceptible host may be protected by the transmission of infection by whom?
immunization

100. s=I 1 ST ¢ o foru TvTer e o1 Tt St e BT 2 7

How many centimetre of dilation of cervix occurs for giving the child birth?
10 cm
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WUsS-2 / Section-2
22 fawa ®ig /Trade Subject Code — 16

W (TIT@H) / Tracer

66. Tl o1 Teh Y11 <hl TISITS 2x + 3 & UGN TS @ | ShiT BT Sofeh ol o TIATY <h1 T feresl e
8?7
The length of a side of square is given as 2x + 3. Which expression represents the
perimeter of the square ?
8x + 12

67. T STAATHR e h1 &G 120 1 HeT 8 3 HRT TRATT 46 HeX 2 | T Hhieh hl TS
7
The area of a rectangular carpet is 120 sq. m and its perimeter is 46 m. Then the length of
the carpet is :
15m

68. 1 TUH Byt MNO 3T PQR o1 ity 78 Tt 31 23.4 At 2 | afe ON = 9.75 &t 3 QR
=X, @ X HUE @H ) R
The perimeter of two similar triangle MNO and PQR is 78 cm and 23.4 cm. If ON = 9.75
cm and QR = ‘x’, then the value of ‘x’ is (in cm),
2.925

69. T THIREGHS ABCD 1 8% 300 cm? B, AB 3R CD 3 sff= sl gl 20 ¥t 2, 31K BC 3R
AD % #= it g 30 9t B | THTataqHS 1 ey (@ ) Fn g
The area of a parallelogram ABCD is 300 cm?. The distance between AB and CD is 20

cm, and the distance between BC and AD is 30 cm. What is the perimeter (in cm) of the
parallelogram ?
50

70. Tt o qiETg ST 0T KL s faeRut 12 aeft o 5 T o € |
26 Tt

Calculate the perimeter of thombus whose diagonals are 12 cm and 5 cm long.
26 cm

71. 28 T =TT ATel 3Tefg 1 aRwTd (& 7) 710 HIC | (= 22/7 7)
Find the perimeter (in cm) of a semi-circle, having diameter of 28 cm. (Take = = 22/7)
72

72. ek o o1 &kl FTEeRT Ueh foentt 3.8 fier vian @, 98 @

The area of a square, one of whose diagonals is 3.8 m long, is :
7.22 m?
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73. Ueh TRATHR AgM 61 T YT 8 et 7 37 38eh! Ueh farpot 10 Mex 7 | STRIATHR BeH 1
AR B
48 = Hiex

One side of a rectangular field is 8 metre and one of its diagonal is 0 metre. Area of
rectangular field is
48 square metre

74. o IS T &% (cm? W) 1A ShIfSTT Forerent e 11 At 3R 39S 12 3 8 |
Find the area of a triangle (in cm?) having base 11 cm and height 12 cm.
66

75.  Ife THTATEGS T TR 3R HTS hA: § Tt 3T 14 A 7 | cm? H HHT HABSA F1d
HIT |
If base and height of parallelogram is 8 cm and 14 cm respectively. Find its area in cm?.
112

76. SUTSTEH T B 800 m? (T HeX) B | THHIAL Y137 hl ofalTs 28 Tt 3™ 12 1 ] | Tmers i
T TG HIFAT |
40 Hiex

The Area of trapezium is 800 m?. The lengths of the parallel sides is 28 m and 12 m. Find
the height of the trapezium.
40 m

77.  Afe Ta=gyS < < foreput 18 Bt 37 20 Bt 2. 3TRT &% (cm? H) TTd hIfT

If two diagonals of thombus are 18 cm and 20 cm. Find its area (in cm?).
180

78. 9fc Teh I 1 TRATT Teh T <k THHATT o SIS g, Al b &bl b1 SqIA 8 (m=22/7
SIS

If the perimeter of a circle is equal to that of a square, then the ratio of their areas is (Take
n=22/7)
14:11

79. If¢ ISt ABC, B W THHIV 3 AB = 9 ¥ 3 AC = 158 8 | BC 710 HIfT |
If triangle ABC, right angled at B and AB = 9 cm and AC = 15 cm. Find the BC.
12 99 /cm

80. s ABCH, AC=+/180,AB=6, BC=122|4B=F1%?

In a triangle ABC, AC=+/180, AB = 6, BC = 12. Whatis £ZB = ?
90
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81.

3.5 H TR |
18480 Fie
3.5 mile is equal to

18480 ft.

82.

EEIE3 : 7% I A & | Afe TEaTt 1 I 560 B, 91 BI G718
Two numbers are in the ratio of 3 : 7. If the sum of numbers is 560 then the small number
is,

168

83.

TG 3 : 2 : 5 STUTT § & 3T 3Tk T b1 I 1862 7 | TEATI & :
21, 14 3R 35
Three numbers are in the ratio 3 : 2 : 5 and sum of their squares is 1862. The numbers are :

21, 14 and 35

84.

1.3 Terzr 1 Tt wifrerd 390 T 8 2
What percent of 1.3 kg is 390 grams ?

30%

8s.

Tl Iufieai < &= Tsh TATa |, forsidT o1 e Hal ol 70% STH g7 3R 36 1290 Wl < Ig7a
T gATE Shta fora | 9 g aie ST =i &l foha STt & df STet T4 aiei <hl et HedT a1
22

In an election between two candidates, the winner got 70% of total vote cast and won the

election by a majority of 1290 votes. What is the total number of votes cast if no vote is
declared invalid ?

3225

86.

Ife 25 T3 1 5T G 18 T3 b foTsha Yoot o SIS 2 | 1Y % 3T BT % T7d ShiTT |

350 /9% ¥

If cost price of 25 articles is equal to selling price of 18 articles, find gain % or loss %.
350 / 9% Gain

87.

Ife fmtar bt 129% @ 8idT & 31K e fershaT <l 8% <14 BIdT 2, dl Teh ooied o IcdTe h
AT ST 1, ForeehT et 7o T 60,480 2 |

If the manufacturer gains 12%, and the retailer gains 8%, then find the cost of the
production of a table, the retail price of which is ¥ 60,480 ?

350,000
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88. feasr = uget 3 o & fotw 2% Wi o <t g1 ot 3T 3rTet 2 9 o foTw 5% ufa ad i o 5o oA
YT T | A7 98 5§ b 37d | T 480 1 ol ATIRUT TS Fohlal & | 6 fohad1 T8T 3UR
foram 34 2
Hitesh borrowed some money at the rate of 2% per annum for first 3 year and at the rate of
5% per annum for the next 2 year. If he pays a total simple interest of ¥ 480 at the end of 5

years, how much money did he borrow (in ) ?
3,000

89. ¥ 1,550 <h1 TS W 2 IS shT HIURUT ST HHH TG o T 1,450 o HIERO =319 § T 20 Al
NI AR

Simple interest for a sum of I 1,550 for 2 years is ¥ 20 more than the simple interest for I
1,450 for the same duration. The rate of interest is

10%

90. 10,000 1 TR T 4% T ¥ 1 X 2 FA TG AR TR T3kl SATS o s 1 3T 1
g2 X )

What will be the difference between simple and compound interest (in ) at 4% per annum
on a sum of ¥ 10000 after 2 years ?

16

91. ¥ 13,400 T 8% Wit ¥ 1 G H 2 A o eI Thafg = (X H) T hiIfT

Find the compound interest (in ¥) on T 13,400 at 8% per annum for 2 years.
2229.76

92. e B8 TN 30, 72, 53, 68, x 37 87 T 3NAT 60 7, Tl x T TH 2
If the average of six numbers 30, 72, 53, 68, x and 87 is 60, then the value of x is:
50

93. 6 37 34 % o= 5 9 favrsy g+t geati 1 3 fHd 3

The average of all the numbers between 6 and 34 which are divisible by 5 is :
20

94. T HE-UTST HEA3 HIPHEGA 105 7 | 3HHT T AU §HT F1ET
Product of two co-prime numbers is 105. Their LCM should be,
105

95. Afe S E@ATE 7 : 3 % U H 3 3TN I T[T THIE 294 2, A1 3T Hadd qHTIadh Td
hHITT |
If two numbers are in the ratio of 7 : 3 and their LCM is 294, find their HCF.
14

96. I B % Tsh Heteh ol UNATT 36 T 2, 1 O =T ™A (cm3 o) 1A Y |

Find the volume of cube (in cm?) if the perimeter of one face of a cube is 36 cm.
729
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97. afq 5 Wt oT aTet o B b1 T T | g R e STIgeht Ueh ETH SHTRIT STl &, <l aiort
FATH T 3T &:
If three cubes each of side 5 cm are joined end to end to form a cuboid, then the Volume of
resulting cuboid is:
375 cm?®

98. &I TIICAl % JEIT STheT T STIT 16 : 9 2 | b TG HT 31U 3

The surface area of two spheres are in the ratio of 16 : 9. The ratio of their volume is
64 :27

99. U fireiet shi Forsam 10 Tfl B 3R 36T ARG 4400 cm? ® | fireiet i =g (@l #) 3
T | (n = 22/7 )
A cylinder has 10 cm radius and its volume is 4400 cm?. Find the height of the cylinder (in
cm). (Take m=22/7)
14

100. 4.2 TH! ST AT Toh T § IS ST Tkl ATe] T TS AT e hl AT TR & :

The approximate volume of the largest right circular cone that can be cut out from a cube
ofedge 4.2 cmis :

19.4 cm3
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WUs-2 / Section-2
2% fawa ®ig /Trade Subject Code — 17
TAATR W / Havildar Instructor

66. W gfaae 3 Fr=fafga 5 @ form oo @ e & foem sur fau @ 2
Juag

The Indian Constitution has borrowed the ideas of the preamble from which of the following
country ?
USA

67. TAd WRA % Tget forgwn Tt @i 97
HATEHATA 2%

Who was the first Foreign Minister of Independent India ?
Jawaharlal Nehru

68. T T 4 B 3= U B AT EATR 7
3u-rgufa

Who among the following is the Chairman of The Upper house ?
Vice-President

69. T |GG (9T 1) §RT & foha Hifereh SR feu e g 72

How many Fundamental rights given to us by Indian Constitution (Part III) ?

6
70. 9T G o fehg v | AnTient & Hifetes JTfeR iy 8 2
Gfaem st 9 3
Which part of Indian Constitution contains the fundamental rights of the citizens ?
Part 3 of the constitution

71. 9N GiEM % 3FER, 3wse 80 Fefciad o @ fora fowr & wafaa g7
T3 ufteg < T

According to Indian Constitution, Article 80 deals with which of the following topics ?
Composition of the Council of States

72. Tgafd AEETEE § 37 R i R fohaeh! geie Rt ¢
e
The President appoints other ministers in the council of ministers on the advice of
Prime Minister

73. HEEH TR i THR H ARUREE q9 Toh U6 T ST 1§ Hehdl & STel qeh 34 F=ifeiRad | & fopeent
TH TH & ?
FAHANT & TG o TEH Hl
The Council of Ministers in a Parliamentary type of Government can remain in office till it enjoys

the support of which of the following option ?
Majority of the members of the Lok Sabha

74, fTrfefaa o @ 9 Tgdfa a1 STyt o AT 1 <o Sifvd s Fehar g ?
goim e

Who among the following can declare the election of President or Vice President “Void” ?
Supreme Court
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75. i SM % fofe T A i wifth Y el wfaum 3 Feforfaa 3 @ fra srqese d aftfa &7
ITTT 162

The extent of executive power of state to make laws is stated in which of the following article of
the constitution ?

Article 162

76. ST o TG TA& AT GRI TSAT o et &1 ohl Si-iued st o foTg feha wrewait & s1ferss T2
&l Tl 2 7

The house of the people cannot consist more than how many members to represent the
Constituencies of the States by direct election ?

530

77. A o Sl % Frefeiad § @ o o1 It Fate <A %1 T8y ST i 6 3ith ear ? ?
T 32

Which of the following article of Constitution of India gives Supreme Court the power to issue
writs ?

Article 32

78. WA Hiqa™ | fepa! sTEfe g ¢
How many schedules are there in the Indian Constitution ?
12

79. Frafoifad o & =M T Y= WA S Sfaem 8 YeH i TS TS g | galtia g
araet

Which of the following Schedule deals with State list provided in the Constitution of India ?
7th

80. W Gfaed 1w 2 fFafafga 4 8 ferg A A gefia 8 7
ATt

Part 2 of the Indian Constitution deals with which of the following matter ?
Citizenship

81. VR AlIUH % T8¢ 124 AR Hal=d AT o AR 3hi HaTH T i TP FRTE ?
65 |

According to article 124 of the Indian Constitution, what is the retirement age of a Supreme Court
Judge ?

65 Years

82. I AR % AT o odd 3N Fer <hl 317 wd v} gl st frerforftaa § 9 ferees gra fuffa
A Gehdl B 7
e

The salary and other conditions of service of Judges of High Court, shall be such as may be
determined by which of the following ?

Parliament

A3 17 86 MASTER




83. Tl Y faem awnet § srEfad ol 3 g St o fore @iel 3 e 1 yraem
Gfaam & frefafed 3 9 fea sgesg A fenmn g ?
AT 332

The provision for reservation of seats for Scheduled Castes and Scheduled Tribes in Legislative
assemblies of states is provided in which of the following article of the Constitution ?
Article 332

84. SRS (RTI) ST 2005 < &, Had AT SN § T 1 STTIH o |1 Trehad e
%iv‘sﬁaaam Wﬂﬁﬂaﬁ?
2

Under RTI act 2005, Central Information Commission shall consist of not more than how many
Central information commissioners along with Chief information commissioner ?
Ten

85. 3RS (RTI) Afaf=m 2005 o fore 3TT=ede o dgd &I T 3T hl 8 61 TELIH § 7
DT 14

Under which article of RTI act 2005, removal of Chief information commissioner is provided ?
Article 14

86. v fHamur srfufrm 1988 < am 3 f=fafgd § @ foraa w2 ¢
oo =mnsiio s e i wikw

Section 3 of The Prevention of Corruption Act 1988 deals with which of the following ?
Power to appoint special Judges

87. v fHamor srfufm 1988 hi fefifigd 1 & ford 9 5 g ik Seieh o T SHThTTd TTe ST ST
o e g o g 7
R 9

Taking gratification, for exercise of personal influence with public servant is under which of the
following section of The Prevention of Corruption Act 1988 ?
Section 9

88. TET graa e 1980 % TTHR e <At 3tfershan 7afyr fopafi 8 7
12 78R

What is the maximum period of detention according to National Security Act of 1980 ?
12 months

89. WA % Tl % fohg 3=de & dad WA o 3= el | SHfed ATTIeh R hl St 8 7
TTT 32

Under which Article of Constitution of India, public interest litigation is filed in the High Court of
India ?
Article 32

90. frferftaa d 9 ford WG § Sfed Jnferent & S o TY H JET ST 8 7

T 0L u. ST

Who among the following is known as the Father of PIL in India ?
Justice P.N. Bhagwati

91. 9RA THR % g Tg BT A1 g HH 1 T BT AT I B oh To1¢ Ioham1 Frferfiaa & @ fovg amr
% 3Taid TS ?
AU <hr e 121

Waging, or attempting to wage war, or abetting waging of war, against the Government of India is
covered under which of the following section ?
Section 121 of IPC
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92. IPC 3l 9T 74 o THR TehT=d e fehan i @ 3tferes 78 gn =nfew ?
RIEE

According to Section 74 of IPC, in any case solitary confinement should not exceed how many
days ?
Fourteen

93. =freh & ¥ %1 Hid gu =Arefie 1wt freferlad 9 @ form e w smaufies g @ g
BT 87
gyt < am 77

Act of Judge when acting judicially exempt from criminal liability by virtue of which of the
following ?
Section 77 of IPC

94, it = frefarfaa o & form frgia ot o= A gar @
“Uefe T TaeT” (T wicha 5eF)
Natural Justice doesn’t recognize which of the following principles ?
“Pacta sunt servanda”

95, Frfafaa § 4 ferges 3Tald 37UE0 o 11 1 Iooi@ B ?
SASUIE <hr & 363

The punishment for kidnapping is mentioned under which of the following ?
Section 363 of IPC

96. THEITHT (SDMA) ol G i &l Tehell & 7

Who can be the head of SDMA ?
Chief Minister

97. TAEITHT (NDMA) 1 J01 €4 R 7 ?
AT Teseet fasie s

What is the full form of NDMA ?
National Disaster Management Authority

98. fmforfaa & & form g=ht H, Aradt S7Eh & 18R g 37K TTEehR 1 iy F 8 Ih § ?
T

In which of the following list, is the Money-lending and money-lenders; relief of agricultural
indebtedness, according to Seventh schedule ?

State Subject

99, R Gfaem 1 ffeilad O | SF A1 3<8e Al JaT SR o 3 T foeiur YeH Hidi g ?

g 322

Which of the following article of Indian Constitution provides details on expenses of Public
Service Commissions ?

Section 322

100. 2004 T, e gran |fufa 4 Frferiaa 5 & forg foshea 1 gam 31 fahric o off ?
faferet g

In 2004, PC Hota Committee recommended for reforms in which of the following options ?
Civil Services
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Wus-2 / Section — 2
22 faw= #ig /Trade Subject Code — 18
feienafifre / Physiotherapist

66. ﬁﬂ%@ﬁﬁﬁﬁ@ﬁmwgﬁ@ (distal row carpal bone) T g9
EEEE

Which of the following is NOT in the distal row carpal bone ?
Triquetrum

67. Trferfaa o @ o | gereiia faafim g 2
forertem - =it
Which of the following is water soluble vitamin ?

Vitamin - B

68. HIdTUR i FAE I AT i o 7T FHTA fehall ST AT 91, IR I8 T o Tl & 9§37 3
a8 =
S|

Solution used to clean the surface of CPM, if its soiled with blood stains is
Bleach

69. T fuferean ©, 31 W <l GTEAT: A YT USifetad el H

In wax therapy, Composition of solid wax: liquid paraffin : Petroleum Jelly is
7:3:1

70. T T 8 S € Tl o e i fafa 7@ g 2

STIEA
Which of the following is not the method to apply LASER ?
Transverse

71. @R fheet §, HEPA &1 91 Y 8 2
218 uftRfytuh wiidsere wer
In air filters, what does HEPA stands for ?
High Efficiency Particulate Air

72.  hgid bl Ty fersiices &
LS

Central skeletal muscle relaxant is
Diazepam
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73.

I A ST &5 9 HH dI99H deh S8 Tk o HIETH o FHSHT Foll ohT Sl =1 3 2
e

Transmission of Heat energy from area of high temperature to low temperature through a
direct contact is what ?
Conduction

74.

e | @ A 1 31 e g8 | U oot | nag e 8, I H GUR T 8, Tl UfY % wr
T YUR AT ?
VIAHTEA

Which of the below aasana helps in relieving back pain, improve digestion, improve
function of prostate gland ?
Salabhasana

75.

I <l 3Afereh SISt <hl Aeriep fargwad & 2
T / AT HA, FEUTATSHTHIT <Y 3TR 3R T

Clinical features of over dosage of iron are
Grey/ black stool, progressing to hyperglycemia

76.

wheftg dien o1 fmfo AE AR A BT |
Axillary nerve is formed by spinal nerve
C5, Cé6

77.

I H USITEH ) Sie A1 fehrem 1§ aem &
|

Which enzyme is capable to add or remove water ?
Lyases

78.

¢ IR ufeaT (IMF) & Td o foru faqdfia W denies 61 St (A1) 8
3 fire 4 1 fame 3t

Dosage of Contrast bath technique for relieving pain and edema
3 minutes warm: 1 minute cold

79.

T U q0equr 8 et STm . o W1 o1 UaT o o foTe fepan S 2 |
feramg

ELISA is a test used to detect protein in
Virus

80.

U SEYEH (I TFS) hH AT g 7
TREHES

Which is loop diuretics ?
Frusamide
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81.

ITHL T ATk affentor 2
e STt (TAfET) 3TeeR, Sieh g1 arett (ffetT) teer, ek 3o

Clinical classification of ulcer is
Spreading ulcer, healing ulcer, callous ulcer

82.

UVR 3TN (TA1ehe ) T E4 ST
E4 dose of UVR application
E1 time =x 10

83.

AT H g | FEATIE Tfcrfsha shi @ H gfg 2rf 394 wafed 2

e & o FEm
Increase in temperature will cause an increase in the rate of an endothermic reaction is
related with

Van’'t Hoff’s Law

84.

TR U el g Aqfereht AfEa 3
TR

Largest sesamoid bone in the body is
Patella

8s.

Th ek H: ok o Yol Toh GER i L 8
afderita

In a magnet: like poles of magnet ~ to each other.
Repels

86.

87.

WEWW&WW@WEW@ (spores) 1 3TN AT &
FARLISTH 22T o TR UNE (A iR R)

Microbiological test of heat efficiency uses spores
Non-toxiogenic strains of Clostridium tetani

TSR T ST hid §T IR TR T TR hid a7 Ut 1 feafa
s (32) "rEe W e

Position of patient while treating pressure sore using UVR
Oblique side lying

88.

A (Yeaer) o ARR 6 fea T B & 2
TR U

How many layers of muscles are present in Sole ?
Four layer
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89.

8 Tl o fe yemr s 2 2
a5

Who is prone for tennis elbow ?
Carpenters

90.

HTdet oot fIgm & 81 Thar 8 -
Ae (Wifeem) aten de

Carpal tunnel syndrome may caused -
Median nerve injury

91.

Wifereh SATEITH UET0T o she 19 TierdHl | fhe 2
SATET <hl W 9210, HETAl S 9@

Central changes of Aerobic exercise training includes:
Increase Stroke Volume, Increase Myoglobin.

92.

ferega uftwer o1 Tt hAeiR foig 2
&S

The weakest point in the electric circuit is
Fuse

93.

IR 3 foTT ITANT foRT ST STt TEN'S o HTHT=Y e Seftet: -
g 50 — 100 Hz, T8 &R 10 — 50 ps

Common effective parameters of TENS used for treatment: -
Frequency 50 — 100 Hz, Pulse width 10 — 50 us

94.

9s.

gunferted fefifen § ToR Sl oca o1 3UH W 8
45 / em?
Suitable level of LASER Energy density in supraspinatus tendinitis

4 joules/cm?

Tt ST ST 707 S TecaTeRy T o T Ut Al SR 9 TR @

SccATdehdl

Property of water which exerts upward force opposite to gravity is
Buoyancy

96.

i a1 forerfie ged %a giHers § ?
foeifim g

Which vitamin is least harmful ?
Vitamin E
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97. UcU WY $HheRH (UE Y (hei ) TR TTferd hidl &
st

Pulp space infection (Felon) often affects:
Index finger

98. Hrfe kT bl M heT IR |
IR (FEit) nferan e

Sabin Vaccine is also called as
Oral Polio Vaccine

99. HEIYZ (SFTHM) o TUS-Taeht Hpad (TATHHISH higlaH) T THUIH grdl &
fe=rh

Spasmodic contraction of Diaphragm results in
Hiccup

100. 3T (A1g) shi ek STravaehdr 2

Daily requirement of Iron is
10-15mg/d
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66.

Wus-2 / Section-2
22 fawa wig /Trade Subject Code — 19

o 3tfoier %1 Y=IR 92k / Cinema Operator cum Publicity Assistant
Teh HHTHT TR R ?

99 Y A1 ¢ 3 Tl e 3 vifew S @

What does a camera person do ?

Shoots the footage and knows different types of shots

67.

3T 58 S AP HAE 7
Tesiare U S[H 3 A1 313 Tt o 110 FA W S[H i 1 IUTRT hieh, HTHAR W Teh R
HW H A |

How do you zoom out ?
Using the zoom lens on a camera to zoom in or out on the subject, usually with a

stationary camera.

68.

1T 319 A bl e 8 Uepd o e s ST shid 2 7
foarg

What do you use to keep your camera from moving ?

Tripod

69.

Y H Mg ?
whia = fae | fawfsa w0 w snenfa safom ofterd

What is the Rule of Thirds ?

Composition theory based on dividing the screen into thirds

70.

39 319 <fife T FTREMEA FAE ?

TUeh WIERETER Rl AT &l 3T 36 S 3TR 3707 AUeia § 1t &
How do you import your video ?

Use a firewire and plug it into the camera and your laptop

71.

g <@ T © Toh O S 3T = foTu Fientt o 319l <l 9T § 38T i 3T JAR=H
HAE |
S ISIIEED

It has been seen that rural folks migrate to cities in search of job opportunities to earn their

livelihood
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72. %1 qread aTefior &1 § T Tt S o Sfied SR § TRl SYR W guR KT 3TN 3%
AT ST R |
TeioT ferehTe
____refers to improving standard of living of people residing in rural areas on a sustainable basis and
making them self-reliant.
Rural Development
7. e Tt e TR S % T ST T ) ST SR e 0 5
fe 2 |
HIYTE! WA (Whiet gfean)
Mission is meant for providing vocational training to rural youth, in order to develop
skilled work-force.
Skill India
74. T fenTE 1 AR A Y ggd § A 7 |
fog My asdt
Initiatives for implementing rural development include
All of the given
75.  <hidct %l UTe h ®Y H ¥ oh o ford 3rie o1 3T foRam ST 2 2
M et e
What shot is used to represent a character as having power ?
Low Angle Shot
76. b= A1 I (FHEiet) HH T YA H T ThIT <hl AT i Seaadi @ ?
SIEEl
Which control changes the volume of light entering the camera ?
ISO
77. S HHT SR AT H AR ASAT 2 A1 S RTHad & ?
fee
What is it called when the camera turns upward or downward ?
Tilt
78. o0 =T 1 U
fog Ty st
Role of Prism Block is :

All of the given
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79.

G 3TH e delsh b @ g ?
e

Which is the most common editing technique ?
Cut

80.

fore ST o o1 1 iy gt fhem Bt & 2
A (T T

In which types of lens has fixed focal length ?
Normal Lens

81.

M 91 CODEC  37diid 3 e ?
&3 ™ weft

Which comes under CODEC ?
All of the given

82.

FH T < 11 9 T o @ T fefseet g/ fhew wuesmer feraft et dsr ®an g 2
TR

Which part of the camera controls how long light is exposed to the digital sensor/film ?
The aperture

83.

SITE HI Q0 €U R ?
What is the full form of SITE ?

Satellite Instructional Television Experiment

84.

370y feettoft < fremep M 8 7
HeIsia

Who is director of Appu Trilogy ?
Satyajit Ray

8s.

TATAT T&et o Joha™ i Tg= i |
el SIS 2, A TUTr HH A AR E |

Identify a disadvantage of an analog signal.
When copied, quality goes down.

86.

29 g 20 Ufefon il fopm T | of S ST B
Waeh gureA (ferfar ufefén)
What is tape to tape editing also known as ?

Linear Editing
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87.

T I TGS VM1 o WY THE @ _

3T RT Y& Fohw 77T iTe <t gei T Ueh ST 1S Jife ot SUET
If a shot is ending with a wide shot .

Use a different wide shot than the one you started with

88.

I W FRIUTH 3 A -2 arelt sfat =1 yefdia @ & fou smuent frg wga wiie =
I KT =AY ?
IS (JPEG)

Which file format should you use to display photographs and other continuous-tone images on
the Web ?
JPEG

89.

HUTeH THI Teh el ol &Y @ Flfeh
3ATY Tk TS Ui oA o oo ool st e R T ama s ® 2 |

Editing is almost an art form because
You are blending together images and sound to make a connected piece.

90.

T Ut §9R -1l (320 fohaiesh /@Tall) 3R $& 311 ATqeTires T shal ol BIg,
HH TR T B |
JTHIOT HHA

Except for around five thousand or so e-choupals (internet kiosks/dhabas) and a few other
community service centers, is poorly served.
Rural India

91.

TEHR TISE T 3TN 3Tk T WIEeh TSI & AU FM W UH a8l ol SIWAR W
Teh 3T ATSshI%IF &1 i o fete smfiret fopem Srar 2 |

TS Tiche
An external  on the camera is generally included to plug in a separate microphone for

better sound quality and more accurate mic positioning.
Mic Socket

92.

3= JATSAT frepidt o @1y aﬁqgm (wreak havoc)?ﬁ?ﬁ% |
dife=i 2u

High humidity can wreak havoc with recorders.
Video tape

93.

e oft g (Rroiee #0), w6 @1y e (sfe %) 3k fEba (S0 £ asser, HE,
HeiaT FAifeat 3Seye, 3fe) i % fo7u 3 sl Hid g &, 1 JTTEvIRal Bl
it forerm

An is needed whenever there are a number of sound sources to select, blend
together, and control (such as a couple of microphones, CD, VCR audio output, etc.).
Audio Mixer
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9.

J1fersh TEtet (FteRfieeT) JehR o SATTeN ftheet, ST TolTset Uicd i Sgeteht SATe Teen o fehet
o} W (TTHE) I §G1 IT U1 bl &, HadATdl &

FERATATETR

A more flexible type of audio filter, which can boost or reduce any segment(s) of the audio
spectrum by changing the slider pots is called
Equalizer

9s.

Hured (Tfedin) § “Beg e’ 1 31 3
TSk VI T WA Ve ek Fiawan (Rd=gel) 2 |
A “matched cut” in editing means
There is continuity from one shot to the next.

96.

THITISH ol S&dL S o T H ~gd-Sf&dl (ND) fheet smfie a1 w=iford &1 &ehd & |
foreer e

The may also include or combine neutral-density (ND) filters to improve exposure.
Filter wheel

97.

e B¢ gesige, Tag & U (FRiY &9 § hretn), 37T IqsheR hIvT diet Fdal (et
UTeg TUHH) o H1Y T (God) il B |
TIRE
The system struggles with small subjects, surface color (especially black), and shiny

angled surfaces.
Infrared

98.

Teh IUHLUN o YT TET 7T, Ueh HTseh foIfyre Areh S S Bl (key) fdae, 999 (bow)
ThY, 3T 35 HE &, Tohe HLEHAT & |
VIR (F159)

Placed close to an instrument, a mic can reveal various mechanical such as key clicks, bow
scrapes, and so on.
Noise

99.

IS T I S % HISH § Teh BIEh-ifud Bhid T U Soiae i 99rd & | 3 =&
efifoem s Wi g £ |
HRE (CRT)

televisions send an electron beam through a vacuum tube to a phosphor-coated screen.
These tube televisions are large and bulky.
CRT

100.

e fgef & Safen Seifas ot e gl
T UIivaish

The telephone is bilateral while television and radio are
Unilateral
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66.

@us-2 / Section-2
22 fawa #ig /Trade Subject Code — 20
HIAS TARTIIAT g / Junior Laboratory Assistant
39 ¥ifceh JT31 1 A TIRaT & Fward! werd § fRr w@r S g |
LRI

Name the physical quantity which is kept constant during isothermal process.
Temperature

67.

Topeft areq o e e hrd foede 7l ot
TG T TR o

The work done on an object does not depend upon the:
Initial velocity of the object

68.

3TTAfaTe Tca 1 SR &
FaTg Wea

Units of Relative Density are :-
Unitless

69.

fr=fafaa 4 9 %9 ardfas sfd Sag HLawRa g ?
FHAdA U

Which of the following can produce a real image?
Concave mirror

70.

T I W W o JTel T9H €9 § T i T - R o 7reaw &, Fefiiiaa sfted 7
1Yy "ead! g: 20 et /=er 2 Tehe & foaw, 40 TRt /9er 2 s & fow 3R 60 fomeft/=er 6
Tehg o foTu | HR A pt shma nfa . 7

48 ferett /gt
A racing car accelerates uniformly through three gears, changes with the following average

speed: 20 km/h for 2 s, 40 km/h for 2 s and 60 km/h for 6 s. What is the overall average speed of
the car ?

48 km/h

71.

T - 3T SHM hi &l Sy Taaa €9 H FgHT 61 Fag o I Tt &
ferelt oft T T A wEd g

Two objects of different masses falling freely near the surface of moon would
Have same velocities at any instant

72.

HUeh &1 T W, TETE
TR |
By decreasing the contact area, the pressure:

is increased
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73.

Teh TRE TAT H STId <107 i 3T 379 r ST BId & o9 i b1 {1 &IdT &

The angle of incidence i and refraction r are equal in a transparent slab when the value of i
is

00

74.

HfTSIERT s & foru 74 fe |
W TWae quu

To make a kaleidoscope we require
Three plane mirrors

75.

frferiiaa o @ M =t 19 fostelt < aosi § Wi St e ?
W SR AgEA

Which of the following gases are filled in electric bulbs ?
Argon and Nitrogen

76.

EAESRINEUICK)! HITH MR |
ST 3T

Cochlea is a part of
hearing organ

77.

B 3R IHEE & TR FAffgd H 4 hH AT haa g 8 ?
3ok TETeh 0T THH § |

Which of the following statements about diamond and graphite is true ?
They have same chemical properties.

78.

14 A1 i ATeAS (addition) T fsRaT & TR ?
Which compound will undergo addition reaction?
C,H,

79.

T+ft Iepe 719 % U BN B
AR (Tesh TRHTUE)

All noble gas molecules are
Monoatomic

80.

ST EAT T TH HIeH STESTFATSE o |1 UflHAT HLal & R et - e 79 Twerer it wag @t
T 2 3T FL T 51 hie ITH Rt T B | 78 70 71 2

IR HEE
Copper reacts with moist carbon dioxide in the air and slowly loses its shiny brown surface

and gains a green coat. This green substance is
Copper Carbonate

81.

wieh e fina FEmEEd? |
e

The odour of acetic acid resembles that of
Vinegar
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82.

8 TR 1 SIe STEEATH 2 OH 3T <l 2, el &
fooreha am

The base that gives 2 OH ions in their aqueous state is called as
Diacidic base

83.

T o T ° geamma vl fsor 3 foeea o Hicw 6t e o fawrfoa swtes oM fope e =
FTuTereh AR < HE IR |

A 3MUTTeER WR

A pseudo molecular weight computed by dividing the mass in a mixture or solution by
the number of moles in the mixture or solution is called

Average molecular weight

84.

‘7’ qcd I | SRt JTTHITEE SHIAT 8 | 36 HATHTSE 1 Tei1d e el fefead i At
IR AR B4 Y e 37fere TYTET 8 |

HEA

The element ‘Z’ burns in air to form an oxide. The aqueous solution of this oxide turns blue
litmus red. The element ‘Z’ is most likely to be:

carbon

8s.

8 e fore sheret T ded 21 8
The period that contains only gaseous elements are
1

86.

Tk 1 AT UT forE S0Teh o I gIdT & ?
FL e ]

Red colour of the blood is due to which pigment ?

Hemoglobin

87.

T 1 U&hT ST | F |1 it 98 g1 8 ?
fefm

Which vitamin helps in cloting of blood?
Vitamin K

88.

frefafiaa 9 @ @ STHafes SR &1 987 P g ?
Bl

Which of the following carries genetic information?
DNA
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89.

T T 8 i a1 e T g S 3R ?
REQ

Which of the following is largest organ in the human body ?

Liver

90.

TS WA R |
e TR

Lungs are situated in

thoracic cavity

91.

TS % SRR H pot Bfe B T B R
The total number of bones in human body are
206

92.

T %1 T et fafi 37 <6 g i FEd 2 |
3T T
Group of different organs performing same functions is called

Organ system

93.

HHE I N vefort bt Ee fraf B @ 2
24 vEfeATt 3R 12 S

What is number of ribs in human body?

24 ribs and 12 pairs

94.

e Teret g&deh o o H T8c1 25% i HHT 1 ST & 3R B 20% 1 Jhg 1 STt =, T qea d
FA giEd g |

If the price of a book is first decreased by 25% and then increased by 20%, then the net
change in the price will be :

10%

9s.

T3 400 H T 344 3ok BT Fopu 3 3Tk o WS o9 3 600 T T 582 37eh 114t fopu | forment
ThH Jfaed S8l & 7

= |

Ron scored 344 marks out of 400 marks and his elder brother Ben scored 582 marks out of
600 marks. Who scored percentage is better?

Ben
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96. 4 GEAT3TI I 318 20 & R Tgell T&AT AT G131 o AT <h1 1/3 3 | Taell ST 91 gt ?

The average of 4 terms is 20 and the 1% term is 1/3 of the sum of remaining terms. What
will be the first number?

20

97. U B T 3MUR 3R F1E 20 cm 3T 6 cm B | YT 1 &5wet 7rd hIfTT |

The base and height of a triangle are 20 cm, and 6 cm. Find the area of the triangle.

60 cm?

98. 3TUN 4 cm 3R HTE 6 cm TS B 1 S 21

The area of a triangle with base 4 cm and height 6 cm is

12 cm?

99. =fg weh T 1 A 1331 T3 fem wan B, |t 36k ol <hl e 7|
11w+t

If the volume of a cube is given as 1331 cm?, the length of its edge is equal to

11 cm

100. T THAST T MR &% 21 cm? B X HA1E 11 cm B | Fcist 1 A™EH ®18? (n1=22/7
UELA))

A cylinder has a base area equal to 21 cm? and height equal to 11 cm. What is the volume of
the cylinder ? (Take m = 22/7)

231 cm?
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